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2)

YTP
360 KB

A> FORMAT B:/S

A> FORMAT B:

YTP.EXE
A

A> COPY YTP.EXE B:
A> COPY HA.YT B:

HAYT

BOOT

BOOT

DOS

57



1. 4 Y32-1-9.65
2. 2 Y25-2-6.70
3. 4Y20-1-9.65
4. 4 Y32-6-5.00
5. 4 Y20-7-3.00
6. 4 Y25-10-1.90
7. 63 R12-16-2.45
8. 115 R12-17-1.98

RUNNING - NUMBER

001
002
003
004
005
006
007
008

Bl

YTP

9.65
6.70
9.65
5.00
3.00
1.90
2.45
1.98

RUN

BARLISTS
YTP

32
25
20
32
20
25

63 12
115 12

B G T U~ NG R

58

DB30
DB30
DB30
DB30
DB30
DB30
RB25
RB25

FULL SCREEN

ENTER
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YTP
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ENTER

60

4.1,

4.1.1. CALCULATION 1
I L CALCULATION

CALCULATION FILES STEEL LENGTH VARIABLE

RUN
RUN S PRINT

Fl-help F2-renauie F3-del F5-quit

- RN '
- RUN S PRINT



1

CURSOR

(0 TXT)

CURSOR

61

CURSOR
F1 CURSOR

F2 CURSOR
"ENTER" "ESC"



62

ENTER OR ESC-FINISH FI-CHOSE FILE F2-REJECT FILE =MOVE CURSOR

1 Bl
2 B4
3 B4
4 B3
5 B3
6 B2
1 Bl
8 B3
9 B4
10 B2
11 B2
12 B
13 B4
14 B2
15 BEAM
16 BEAM
17 BEAM

F1-15L.12.0

001
014
013
010
009
006
002
008
012
004
007
005
Qi
003
015
015
015

2219
2219
2219
2219
2219
2219
2219
3083
3360
3959
2219
2913
3288
3887
2955
10000
10000

10

H
O OO o

~ BB B PO PO — O — B DD oo

O O O O O O o

16
15
15
12
12
12
12
25
25
25

RB24
RB24
RB24
RB24
RB24
RB24
RB24
RB24
RB24
DB30
DB30
RB24
RB24
RB24
DB30
DB30
DB30

F2-25L.10.0 F3-RL.0.0Q.0 F4-2RL.0.0Q.0 ENTER-READY

FI
F2
F3
F4



63

F1 - F4

"ENTER"

------------ DIAVEIER 12 RB24-
qual.*length quai.*length quai.*length quai.*length no.eut st

3*2.21 1*3.28 110
B2 007 3 B4 Oil 1

1*2.21 2*3.88 110
B2 007 1 B2 003 2

1*2.91 4x2.21 1 12
B2 005 1 B2 007 4

1*3.28
B4 Oil 1

REST STEEL =7.09

USE 10.00 M = 3
USE 1200 M = 1

F1-15L.12.0 F2-25L.10.0 F3-RL.0.0Q.0 F4-2RL.0.0Q.0 ENTER-READY



L Im '
5 12
EB 24

L

"ENTER" ol
1
4.1.2. FILE
"DATA FILE" "ENTER" '
"ENTER FILES NAME' !
TXT

1 Bl 001 8000 1 6 RBA

9 "ENTER"
1

RUNNING NUMBER

64



- F5
- F6
- F7
- F8
- F9

4.1.3.

4.1.4.

"ENTER"

"SAVE YOUR DATA" Y

STANDARD LENGTH

"SAVE VAR
1.4, CURSOR
" ENTER" '
IIOII
OTHER
CURSOR
. b

65

"ENTER"

"OTHER"
"ENTER"

"ESC"



CALCULATION FILES

Fl-help F2-rename

"STOP BY STEP"

"SHOW CAL"
1 -

"SET END"

- "SAVE VAR"

STANDARD LENGTH

66

STEEL LENGTH VARIABLE

STOP BY STEP

SHOW CAL
SET R\D
SAVE VAR
F3-del F5-quit
6
"ENTER"P
"RND"
"RND"
ESC



4.2, 1

FI HELP
F2 RENAME
F3 DEL
F10 QUIT

YTP

67



YTP

9999
600

YTP

99

99

68
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81
81
8l
8l
8l
8l
8l
8l
81
8l
81
8l
81
8l
8l
81
81
8l

LOW RISE CONDOMINIUM

001
002
003
004
005
006
007
008
009
010
011
012
013
014
015
016
017
018

2820
2980
3020
3500
3560
3880
3910
4000
6060
6240
6320
6560
8410
9110
9260
11700
11760
11870

12

12
228

24
12
12

12
15
15
21

O OO O O o

25
25
25
25
25
25
25
25
25
25
25
25
25
25
25
25
25
25

DB30
DB30
DB30
DB30
DB30
DB30
DB30
DB30
DB30
DB30
DB30
DB30
DB30
DB30
DB30
DB30
DB30
DB30

10



DIAVEJER 25 DB30-

/1

quan.*length quan.*length quan.*length quan.*length no.cut st

1%2.82
SIool 9
1*2.98
SI 002 2
1*3.02
SI 003 56
3*3.50
SI 004 24
1*3.56
SI005 9
3*3.88
SI 006 24
3*3.91
SI007 6
3*4.00
SI008 72
1*3.91
SI 007 6
1*3.50
SI 004 3
1*2.82
SI1001 63
1*3.02
SI003 15
1*3.50
SI 004 27
1*3.50
SI 004 15

1%9.11
SI014 9
2*3.50
SI004 4
1*3.50
SI 004 4

1%6.24
SI010 - 9

1*6.06
SI 009 6
1%6.24
SI010 3
2*3.50
S 004 126
1%6.56
SI012 15
1*8.41
SI013 27
1%6.32
SIOil 15

9

28

28

63

15

21

15

12.0

10.0

10.0

12.0

10.0

12.0

12.0

12.0

10.0

10.0

10.0

10.0

12.0

10.0



-DIAMETER 25 DB30-

12

quan.*leagth quan.*length quan.*length quan.*length no.cut st

1%9.26
SI015 9
1*11.70
SI 016 6
1*11.76
SI017 6
1*11.87
SI 018 9

1*3.02 1*3.50
SI003 1 SIo004 1

REST STEEL = 69.05

USE 10.00 M = 151
USE 12.00 M = 99
2

Bl 001 1240 720 20
Bl 002 2990 602 20
Bl 003 3000 64 20
Bl 004 3250 560 20
Bl 005 3300 220 20
Bl 006 3350 268 20
Bl 007 3360 320 20
Bl 008 3430 156 20
Bl 009 4050 220 20
Bl 010 4300 776 20

DB30
DB30
DB30
DB30
DB30
DB30
DB30
DB30
DB30
DB30

10.0

12.0

12.0

12.0

10.0



------------ DIAME]ER 20 DB30—

13

quan.*length quan.*length quan.*length quan.*length no.cut st

4*1.24
Bl 001 128
4*2.99
Bl 002 432
2*1.24
Bl 001 128
2*1.24
Bl 001 276
3*3.30
BL 005 150
1*1.24
B1 001 100
1*3.36
Bl 007 320
1*3.25
Bl 004 68
1*1.24
Bl 001 &8
1*3.35
Bl 006 68
2*3.30

BL 005 2

1*2.99
Bl 002 32

1*3.00
Bl 003 64
1*2.99
Bl 002 138

2*3.35
Bl 006 200
2*4.30
Bl 010 640
1*3.30
Bl 005 68
168286
Bl 004 88
2*4.30
Bl 010 136

REST STEEL =39.24
USE 10.00 M = 119
USE 12.00 M = 918

1+4.05
Bl 009 32

2*3.25
Bl 004 128
2*3.25
BL 004 276

1*4.05
Bl 009 100

1*3.43
Bl 008 68
1*3.43
Bl 008 88

1%4.05
Bl 009 88

32 12.0

108 12.0

138 12.0

138 12.0

80 12.0

100 12.0

320 12.0

68 10.0

88 12.0

68 12.0

110.0



St

St
Sl
Sl
Sl
Sl
Sl
Sl
St
Sl
Sl
St
Sl
Sl

001
002
003
004
005
006
007
008
009
010
011
012
013
014
015

------------ DIAMERER 16 DB30—

10000

9350
8300
7400
1250
7200
7300
5300
5550
6000
5000
2500
4000
3300

800

1383
13
15
13
14

6
103
14
103
10
6

/
10
30
453

16
16
16
16
16
16
16
16
16
16
16
16
16
16
16

DB30
DB30
DB30
DB30
DB30
DB3U
DB30
DB30
DB30
DB30
DB30
DB30
DB30
DB30
DB30

quan.*length quan.*length quan.*length quan.*length no.cut st

1*0.80

SI015 51

1*2.50
SI 012

3*4.00
SI 013

2*5.00
SIOil

/

3

6

2%5.55

SI1009 102

1*7.25
SI 005

/

51 12.0

710.0

1120

6 10.0

14



15

DIAMErER 16 DB30-

quan.*length quan.*length quan.*length quan.*length no.cut st

2*3.30
SI014 28
1*3.30
SI014 1
2%6.00
SI010 10
1*0.80
SI 015 6
3*0.80
SI015 21
3*0.80
SI1015 309
3*0.80
SI015 39
2*0.80
SI 015 26
1*9.35
SI1002 13
1*10.00
SI1 001 1383
1*3.30
SI04 1
1*0.80
SI01S 1

1*5.30
SI 008 14
1*8.30
SI003 1

1*4.00
SI 013 6
1*7.25
SI005 7
1*7.30
SI1007 103
1*7.40
SI1 004 13
1*8.30
SI003 13

1%8.30
SI003 1
1*4.00
SI013 1

REST STEEL = 56.40
USE 10.00 M = 1542
USE 12.00 M = 80

14 12.0

1120

5 12.0

1*7.20
SI 006 6

6 12.0

7 10.0

103 10.0

13 10.0

13 10.0

13 10.0

1383 10.0

1120

1*5.55 1120

SI009 1



S|
S|
S|
S|
SI
SI
SI
S|
SI
S|
SI
S|
SI
S|
S|
SI
S|

1*1.50
SI 014 7
3*1.80
SI1 015 102
6*2.00
SI 013 360

001 10000 3641
002 9000 /
003 7500 /
004 6500 22
005 5400 89
006 5000 812
007 4500 506
008 4000 690
009 3500 9
010 6000 16
Oil 3300 16
012 2400 72
013 2000 456
014 1500 1
015 1800 120
016 2300 352
017 6550 10

16
16
16
16
16
16
16
16
16
16
16
16
16
16
16
16

-DIAMETER 16 DB30-
quan.*length quan.*length quan.*length quan.*length no.cut st

1*2.00
SI013 7
2*2.30
SI 016 68

1%6.50

SI 004

/

DB30
DB30
DB30
DB30
DB30
DB30
DB30
DB30
DB30
DB30
DB30
DB30
DB30
DB30
DB30
DB30
DB30

76

10.0

34 12.0

60 12.0



11

----------- DIAVETIER 16 DB30-

quan.*length quan.*length quan.*length quan.*length no.cut st

2*2.30
SI 016 104
1*1.80
SI 015 16
1*3.50
SI009 9
3*4.00
S11008 690
2*4.50
SI007 482
2*5.00
S 006 758
1*2.00
SI 013 89
2*6.00
SI 010 16
1%6.50
SI 004 6
1%6.55
SI017 10
1*4.50
SIoor 7
1*9.00
SIQo2 7
1*10.00
SI1 001 3641
1*2.30
SI016 1

1*2.40 1*5.00 5 12.0
SI012 52 SI 006 52
1*2.40 1*3.30 1*4.50 16 12.0
SI012 16 SIOil 16 SI007 16
1%6.50 9 10.0
SI 004 9
230 12.0
241 10.0
3719 10.0
2*2.30 1*5.40 89 12.0
SI 016 178 SI 005 89
8 12.0
6 10.0
10 10.0
1%7.50 7120
SI003 7
7 10.0
3641 10.0
4*2.40 112.0
SIo12 9



DIAMKIER 16 DB30—

18

quan.*length quan.*length quan.*length quan.*length no.cut st

1*1.80 2*5.00
SI015 1 SI 006

1*1.80 2*2.30
SI015 1 SI 016
REST STEEL = 305.02
USE 10.00 M = 4335
USE 12.00 M = 464

S| 001

S 002

S| 003

S| 004

S 005

S 006

S 007

S| 008

S 009

S 010

S Qi

S| 012

2

1*4.50

1 SI 007

2000
2100
4000
4300
5000
5400
5500
5700
6000
10000
8400
2000

55
55
20
20
1434
605
10
22
80
319
324
324

1

25
25
25
25
25
25
25
25
25
25
25
25

DB30
DB30
DB30
DB30
DB30
DB30
DB30
DB30
DB30
DB30
DB30
DB30

1120

110.0



9

------------ DIAVETrER 25 DB30—
quan.*length quan.*length quan.*length quan.*length no.cut st

6*2.00 59 12.0
SI001 55
SIH 012 299

1*2.70 1*8.40 55 12.0
SI 002 5 SI Oil 55

3*4.00 6 12.0
SI003 18

1*2.00 1*4.30 1*5.70 20 12.0
SI 012 20 S1 004 20 SI 008 20

2*5.00 717 10.0
SI1 005 1434

2*5.40 302 12.0
S 006 604

2*5.50 302 12.0
SI007 10

2*5.70 5 12.0
SI 008 2

2%6.00 112.0
S11009 80

1*8.40 269 10.0
SIOil 269

1*10.00 319 10.0
SI1010 319

1*2.00 1*4.00 1*5.40 1120

SI012 1 SH003 1 SIO006E 1



DIAVE[ER 25 DB30—

60

quan.*length quan.*length quan.*length quan.*length no.cut st

4%2.00 1*4.00
SI012 4 §I003
REST STEEL ~ 848.50
USE 10.00 M = 1305
USE 12.00 M = 490

6

S| 001

S| 002

S| 003

S| 004

S| 005

S| 006

1

1200
6500
2500
1200
2400
3000

303
21
105
88
25
25

12
12
12
12
12
12

DB30
DB30
DB30
DB30
DB30
DB30

1120



81

------------ DIAMEHR 12 DB30-
quan.*length quan.*length quan.*length quan.*length no.cut st

10*1.20
SI1001 303
SI 004 87
*2.40
SI005 25
4%2.50
SI1 003 84
4%3.00
SI 006 4
1*2.50 1*3.00
SI003 21 SI 006 21
1*1.20
SI 004 1

REST STEEL = 8.8
USE 10.00 M = 22
USE 12.00 M = 66

39 12.0

5 12.0

21 10.0

1120

1*6.50 21 12.0

SI002 21
1 10.0



81

81

001
002
003
004

2500
3300
1200
10000

LM-

414
41
260
18

12 DB30
12 DB30
12 DB30
12 DB

82

quan.*length quan.*length quan.*length quan.*length no.cut st

10*1.20
11003 210
5*2.50
11001 288
1*1.20
SI1003 41
1*10.00
SI1 004 18
3*1.20
SI003 3
6*1.20
SI 003 6

REST STEEL

USE 10.00 M =91
USE 12.00 M =63

1*3.30
SI 001 125 SI 002 41
S0 3
- 3.7

21 12.0

72 100

41 12.0

18 10.0

1120

112.0



8,
St 001
81 002
St 003
8l 004
St 005
St 006
St 007
St 008
St 009
St 010
Sl 011
8l 012

, 10, 1

quan.*length

quan.*¥length

DIAMETER 12 DB30

3000 27 12
2600 18 12
1000 6 12
2400 119 16
5000 16 16
4000 176 16
2000 21 20
2100 164 25
3000 10 25
5000 347 25
5400 112 25
9000 81 25

DB30
DB30
DB30
DB30
DB30
DB30
DB30
DB30
DB30
DB30
DB30
DB30

83

quan.¥length

quan.*¥length

no.cut

st

1%¥1.00
S1 003 6

4%3.00
S1 001 20

1%3.00
S1 001 1

REST STEEL =

]

USE 10.00 M.

USE 12.00 M. =

3%2.60

S1 002 18

1%3.00
S1 001 6

12.0

12.0

10.0




84

------------ DIAMEIER 16 DB30-
quan.*length quan.*length quan.*length quan.*length no.cut st

*2.40 23 12.0
SI 004 115

3*4.00 5 12.0
SI 006 174

2*5.00 23 12.0
S| 00s 16

3*2.40 1*4.00 1120
SI 004 3 SI006 1

1*2.40 1*4.00 110.0

SI 004 1 SIH006 1
REST STEEL = 4.40
USE 10.00 M = 1

USE 1200 M = 3

10

----------------- DIAMELER 20 DB30-

quan.*length quan.*length quan.*length quan.*length no.cut st

6%2.00 3 12.0
SI 007 18

3*2.00 110.0
SI 007 3
REST STEEL =  4.00

USE 10.00 M = 1
USE 12.00 M = 3



A1

------------ DIAMKTER 25 DB30-

85

quan.*length quan.*length quan.*length quan.*length no.cut st

4*2.70
SI1 008 92
1*3.00
S11009 10
2*5.00
SI' 010 346
2*5.40
SIOil 112
1*2.70
SI 008 11
1*2.70
SI 008 1
REST STEEL

1*9.00
SI012 10

1*9.00
SI012 171
1*5.00
SI010 1

= 11840

USE 10.00 M = 174
USE 12.00 M = 160

12

Cl
Cl
Cl
Cl
Cl

001
002
003
004
005

2320
1860
2920

510
1070

100
100
25
50
50

O O O O o

EB24
EB24
KB24
KB24
EB24

23 12.0

10 12.0

173 10.0

56 12.0

1 12.0

110.0



DIAVETIER 9 RB24-

86

quan.*length quan.*length quan.*length quan.*length no.eut st

1%0.57
Cl 004 16
1%0.57
Cl 004 8
1*0.57
Cl 004 10
2*1.07
Cl 005 6
1*0.57
Cl 004 14
5*2.32
Cl 001 5
1*0.57
Cl 004 1
1*0.57
Cl 004 1

1*1.07
Cl 005 16
2*1.07
Cl 005 16
1*1.07
Cl 005 10
4*1.86
Cl 002 12
1*1.86
Cl 002 14

2*1.07
Cl 005 2

REST STEEL = 11.00
USE 1000 M = 32
USE 1200 M = 22

1*1.86
Cl 002 32
4%2.32
Cl 001 32
4*1.86
Cl 002 40
1*2.32
Cl 001 3
2*2.32
Cl 001 28

2*1.86
Cl 002 2

2%2.32
Cl 001 32

1*2.92
Cl 003 10

1*2.92
Cl 003 14

1*2.92
Cl 003 1

16 10.0

8 12.0

10 12.0

3 12.0

1 12.0

1120

110.0

1 10.0



13

Cl
Cl
Cl
Cl
Cl

2*3.65
Cl 006 36
2*4.65
Cl 005 18
2*6.00
Cl 004 144
1*10.00
Cl 002 36
1*11.00
Cl 003 32

002
003
004
005
006

10000
11000
6000
4650
3650

36
32
144
36
36

25
25
25
25
25

-DIAMETER 25 RB24-
quan.*length quan.*length quan.*length quan.*length no.cut st

1*4.65

Cl 005 18

REST STEEL = 39.20

USE 10.00 M
USE 12.00 M

45
122

RB24
RB24
RB24
RB24
RB24

87

18 12.0

10.0

12 12.0

36 10.0

32 12.0



14

Cl
Cl
Cl
Cl
Cl

001
002
003
004
005

8500 6 12
9000 6 12
10000 42 12
9500 42 12
6000 176 12

DIAVETER 12 DB30—

DB30
DB30
DB30
DB30
DB30

quan.*length quan.*length quan.*length quan.*length no.cut st

2*6.00
Cl 005 176
1*8.50
Cl 001 6
1*9.00
Cl 002 6
1*9.50
Cl 004 42
1*10.00
Cl 003 42

REST STEEL

USE 10.00 M
USE 12.00 M

36.00

88
9%

88 12.0

6 10.0

6 10.0

42 10.0

42 10.0



15

Cl
Cl
Cl
Cl
Cl
Cl
Cl
Cl
Cl
Cl

001
002
003
004
005
006
007
008
009
010

2130
3230
3330
3870
3300
3600
3200
3700
36830
2830

JJArmLiltt

10
10
10
40

10
20
20
10
20

25
25
25
25
25
25
25
25
25
25

i)y

DB30
DB30
DB30
DB30
DB30
DB30
DB30
DB30
DB30
DB30

quan.*length quan.*length quan.*length quan.*length no.eut st

2*2.73
Cl 001 10
1*2.83
Cl 010 5
3*3.20
Cl 007 18
1*2.83
Cl 010 10
3*3.30
Cl 005 9
3*3.33
Cl 003 63

Cl 010 5

Cl 002 10

1%2.83

1%3.33

1*3.23

1*3.70

Cl 008 20

1*3.83
Cl 003 5 CI 009

1*3.8

5

/

Cl 004 10

5 12.0

5 10.0

6 10.0

10 10.0

3100

21 10.0

89



UIAfili LK 2D

quan.*length quan.*length quan.*length quan.*length no.cut st

3*3.70
Cl 008
889
Cl 006

3*3.83
Cl 009

3*3.87

15

9

3

Cl 004 30

1*3.80
Cl 006

1*3.20
Cl 007

1*3.20
Cl 007

1

1

1

REST STEEL
USE 10.00 M = 47

USE 12.00 M =

16

Cl
Cl
Cl
Cl
Cl
Cl
Cl

2*3.83

Cl 009

1*3.33

Cl 003

1*3.30

Cl 005

001
002
003
004
005
006
007

18.60

25

2

2

1

3500
4000
3550
4050
3600
4100
3200

5 12.0

3 12.0

1120

10 12.0

1120

110.0

110.0

14 28 DB
14 28 DB
20 28 DB
20 28 DB
14 28 DB
14 28 DB
134 28 DB30
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Cl
Cl
Cl
Cl
Cl
Cl
Cl

008
009
010
011
012
013
014

3700 134
3680 40
4180 40
3300 20
3800 20
2900 40
3400 40
Lil £ 1D

28
28
28
28
28
28
28

DB30
DB30
DB30
DB30
DB30
DB30
DB30

quan.*length quan.*length gquan.*length quan.*length no.eut st

1*2.90
Cl 013 20
3*3.20
Cl 007 33
1*2.90
Cl 013 20
1*3.20
Cl 007 10
2*3.20
Cl 007 28
2*3.20
Cl 007 34
2*3.20
Cl 007 28
3*3.68
Cl 009 39
3*3.70
Cl 008 42

1*3.40
Cl 014" 20

1*3.30
Cl 011 20
1*3.40
Cl 014 20
1*3.50
Cl 001 14
1*3.55
Cl 003 17
1*3.60
Cl 005 14

1*3.70

Cl 008 20

1*3.70

Cl 008 20

20

11

20

10

14

17

14

13

14

10.0

10.0

10.0

10.0

10.0

10.0

10.0

12.0

12.0
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------------- DIAVE'TER 28 DB30—J

92

quan.*length quan.*length quan.*length quan.*length no.eut st

1*3.70 1*3.80
Cl 008 20 Cl012 20
1*3.70 1*4.00
Cl 008 14 CIl 002 14
1*3.70 2%4.05
Cl 008 120 CI 004 20
*oe. 2%4.10
Cloog 7 Cloo6 14
1*3.55 2*4.18
Cloo3 3 CI010 6
1*3.20 1*3.68
Cloor 1 ClIo009 1
REST STEEL = 46.20

USE 10.00 M = 106
USE 12.00 M = 82

17
Cl 001
Cl 002
Cl 003
Cl 004
Cl 005
Cl 006
Cl 007
Cl 008

Cl 009 1

1*4.18

Cl 010 20

1*4.18

Cl 010 14

1*3.70

Cl 008

2200
3750
4000
1900
9500
6400
7500
4600
0000

150
80
120
250
80
305
95
68
140

1

16
16
16
16
16
16
16
16
16

DB30
DB30
DB30
DB30
DB30
DB30
DB30
DB30
DB30

20 12.0

14 10.0

10 12.0

7 12.0

3 12.0

1120



DIAXEER 16 DB30—
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quan.*length quan.*length quan.*length quan.*length no.eut st

5*1.90
Cl 007 33
2*2.20
Cl 001 150
3%3.75
Cl 002 36
1*4.00
Cl 003 120
1*4.60
Cl 008 68
1*3.75
Cl 002 42
1*1.90
Cl 004 95
1*9.50
Cl 005 80
1*10.00
Cl 009 140
2%3.75
Cl 002 2
REST STEEL

1%6.40
Cl 006 75

1%6.40
Cl 006 i20
1%6.40
Cl 006 68
1%6.40
Cl 006 42
1*7.50
Cl 007 95

551.70

USE 10.00 M = 347
USE 12.00 M = 317

18

31

15

12

120

68

42

95

80

140

10.0

12.0

12.0

12.0

12.0

12.0

10.0

10.0

10.0

10.0



Bl
Bl
Bl
Bl
Bl
Bl

00
00
00
00
00
00

------------ DIAVETIER 16 DB30—

1
2
3
4
5
6

2100

9100 50 16
8200 60 16
5500 50 16

100 16
1400 80 16
1200 100 16

DB30
DB30
DB30
DB30
DB30
DB30

quan.*length quan.*length quan.*length quan.*length no.cut st

2*1.20
Bl 006 52
2*1.20
Bl 006 10
1*1.20
BL 006 7
2%5.50
Bl 003 36
1*1.40
Bl 005 33
1*2.70
Bl 004 50
1*2.70
BL 004 1
REST STEEL

1*1.40
Bl 005 26
1*1.40
Bl 005 20
4x2.70
Bl 004 28

1*8.20
Bl 002 33
1*9.10
Bl 001 50
1*8.20
Bl 002 1
44.00

USE 10.00 M = 34
USE 12.00 M = 119

1%8.20
Cl 002 26
1*2.70
Cl 004 20

YTP :

1*5.50
Bl 003 20

26 12.0

20 12.0

1120

15 12.0

33 10.0

50 12.0

1120
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4

co —~J4 O o1

)
)
)
)
)
9)
10)

)
12
3
4
5
6
17
18)
LOW R
19)
20)
1)

[N SEE N SR S

)
)
)
)
)
)

ISE

11

12

13

14
.15
16

17

18

53.6
61
3

490
89.1
482
3290
1.8
3.3
1.3

456
10
25.6
151
32
12
223

109
872
69.5

6546

%

13361 0.4
2396 2.56
10839 0.32

24809 1.97
25880 0.34
77286 0.62
712903 4.5
899 0.87
1479 0.22
128 5.7
1697 0.4
14091 3.2
114 8.8
305 1.9
1369 2
1790 1.7
2965 0.24
9872 2.26

40564 0.27
11493 7.6
2193 2.5

323.0 2.03
X1000

%

16087 6.80
2192 12.0
12940 15.0

167
335
1941

25319 4
667 26497 2.5
575 17407 0.74
3507 73304 4.8
35 959 4
112 1524 7.36
1.3 12857
10 172106
741 14538 5.1
15 119 12.5
55- 291 84
284 8978 3

32 1790 1.7
454 3234 14
2258 11428 224

1013

41125 2.2
11613 8.1
3015 4.8

905
952
144

3348 4.23
X1000

14160

95

%

113 2756 6.40
21439 9.44
1906 2101 14.7

523 510 2
578 617 2.2
93 121 0.12
184 401 0.3
2712 60 3.13
109 45 7.14
0 00

3 24 0.2
2 447 1.1
5 538
14 20 6.5
133 1609 1

0 00
382 269 13.7

2035 1546 20.1°

736 561 1.93

80 120 0.5

145 222 23
2.20



%

YTP 2.03 %
4.23 % . 2.20 %

247299 YTP 241587
5712
5712 X 135 | . = 77112
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program pulldownmenu;
uses tet,dos,crt,screen,keyboard,win,ouu,tev,ter,val,printer;
const maxchoice =5;
maxmenu = 4
type string8  =string C9];
stringSO = string C80];

fiv =text;

structuremenu = record
win array 1..4] of hyte;
col array  ..maxchoice] of byte;
row array  ..maxchoice] of byte;
msg array CO..maxchoice] of string80
lastchoice  byte;

end;

strucmenu = array 1..maxmenu] of structuremenu;
functionmenu= record
col arrayCl..4] of byte;
row arrayCl..4] of byte;
msg arrayCl..4] of string8;
end,
const menu  strucmenu= (
(win:(01,02,17,05);
col (01,02,02,00,00,00);
(
(

row (01,01,02,00,00,00);
msg (" CALCULATION’,
"RUN NOT PRINT”,
'RUN & PRINT’,
}.

lastchoice:2),

(Win:(19,02,33,04):
col:(19,02,02,00,00,00);
row:(01,01,02,00,00,00)



msg (’FILES’
"DATA FILE’,
9 S
lastchoice:l),

(win:(39,02,69,05);
c01:(39,02,02,00,00,00);
row:(01,01,02,00,00,00);
msg :(’STEEL LENGTH' ,

"1 EIT STANDARD STEEL = ’,
'2 st STANDARD STEEL = ’,
9 9 ‘}ké
lastchoice:2),

(win:(59,02,74,07);
c01:(59,02,02,02,02,00);
row:(01,01,02,03,04,00);
msg : (’VARIABLE’
*STOP BY STEP,
"SET R\D',
"HOW CAL.,
'SAVE VAR,
")
lastchoice:4)
)
fkey  :functionmenu = (col:(01,2548,71);
row:(25,25,25,25);

msg:("Fl-help’,
"F2-rename’,
'F3-del’,
'FI0-quit’)
);

const choicemenu : array I1..maxmenul of l..maxchoice

101

=(1,1,1,1);
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statusmenu 1..maxmenu = 1

finish boolean = false; { run flag)

var  {key char;} { keep keyboard code}
fi,bfi fiv;
llinteger;

function made(var firfiv) :boolean;
begin
{$1-} reset(fi){$1+}
made: =(10result=0) ;
end;
Procedure chkPrn:
var iinteger;
Regs  Registers;
Begin
1:=0:
windowopen(4,4,31,7);
writeIn(’  PRINTER IS NOT OPEN');
write(’ OR OUT OF PAPER ")
repeat
{$1-} writedst,” ); {SI+}inc(i);
IF foresult< >0 then
begin writelnd  PRINTER IS NOT READY’);
write(’ press any key when ready’);
readin; end,
{$1-} writedst,” ’); {$14}
until (ioresult=0) or d=20);
windowclose;
end;
procedure ref(var ah:hh);
var i:hyte;
firfile of real;
begin



assign(fi,’ha.yt’);
reset(fi);
for i:=1 to 15 do
read(fi,ahci3d);
close(fi);
end;
procedure saf(var ah:hh);
var i:byte;
fi:file of real;
begin
for i:=9 to 16 do ahci:i:=0;
assign(fi,’ha.yt’),

rewrite(fi);
for 1 =1 to 16 do write(fi,ahci]);
close(fi);

end;

procedure displayfunckey;

var i :byte;

begin

window (1,1,80,25);
with fkey do begin
for i := 1to 4 do begin
gotoxy (colfii,rowfil);
-setattr(lowdisplay);
setattr (reverselow);
write (msgfil);
end;
end;
end;

procedure displaymainmenu(var ahrhh);
var i:byte;
begin

103



window (1,1,80,25);
setattr (lowdisplay);
for i =1 to maxmenu do
with menu ci] do
begin
gotoxy (colCO],rowC0]);
write (msgCO));
end;
end;

procedure choiceactive (old,new:byte);
begin
with menuCstatusmenu] do
begin
setattr (lowdisplay);
gotoxy (colCold],rowCold]);
write (msgCold]);
setattr (reverselow);
gotoxy(col CrneaD, rowCnew);
write (msgCnew]);
end;
end;

procedure menuactive(new:byte;var ah:hh);
var i:byte;
begin
setattr(reverselow);
with menuCnew] do
begin
gotoxy(colCO],rowC0]);
write (msy COJ):
setwinattr(lowdisplay);
sethoxattr(lowdisplay);

104
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setcharattr(lowdisplay) ;
sethoxstyle(single);
setwinheader (" );
windowopen(winCi:,winL2D,wind ,winC4D);
for i:=l to lastchoice do
begin
gotoxy(col[]il,rowi:ii) ;
write (msgdil);
if (new=3) and (i=I) then
begin gotoxy(24,1);write(ahdl] 1),
gotoxy(24,2);write(ahd2]:3:1);end;
end;
end;
choiceactive(l,choicemenu[ne )
end;
procedure moveup;
var currentchoice byte;
begin
currentchoice =choicemenui:statusmenu] ;
If currentchoice = 1 then
choicemenuCstatusmenul :=menudstatusmenul. lastchoice
else
choicemenufstatusmenul =currentchoice-I;
choiceactive(currentchoice,choicemenucstatusmenul);
end;
procedure movedown:;
var currentchoice byte;
begin
currentchoice =choicemenuCstatusmenul;
If currentchoice = menu dstatusmenul.lastchoice then
choicemenudstatusmenul = 1
else
choicemenudstatusmenul =currentchoice+l;



choiceactive(currentchoice,choicemenufstatusmenu])
end;
procedure moveforward(var ah:hh);
begin
windowclose;
If statusmenu+l >maxmenu then
statusmenu:=|
else
statusmenu =statusmenu+1;
menuactive(statusmenu,ah);

end;
procedure moveback(var ah:hh);
begin
windowclose;
If statusmenu = 1 then
statusmenu = maxmenu
else
statusmenu =statusmenu-1;
menuactive(statusmenu,ah);
end;
procedure movetofirstchoice;
begin

choiceactive (choicemenulstatusmenu], 1);
choicemenufstatusmenu] =1;
end;
procedure movetolastchoice;
begin
with menulstatusmenu] do begin
choiceactive (choicemenucstatusmenu], lastchoice) ;
choicemenufstatusmenu] =lastchoice
end;
end;
procedure movetofirst.menu(var ah:hh);
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begin
windowclose;
statusmenu =1,
menuactive(l,ah);
end;
procedure movetolastmenu(var ah:hh);
begin
windowclose;
statusmenu  =maxmenu;
menuactive(maxmenu, ah);
end;
procedure processmenu (num  byte;var ah:hh);
var ch:char;
begin
setwinattr(reverselow);
setboxattr(reverselow);
setcharattr(reverselow);
setboxstyle(single);
windowopen (20,09,50,14);
gotoxy (08,2);
write (’process menu ,num);
gotoxy (08,3);
write (‘options number '+chr(choicemenulstatusmenui+48));
ch = readkey;
windowclose;
end;
procedure domenuKvar ah:hh) ;
begin
if chr(choicemenul;statusmenu]+48) = "1" then
begin ahC7D:=2;data(ah,av);
windowclose; end
else
if chr(choicernenuCstatusmenull+48) =2’ then



begin chkprn;ahC71:=l;data(ah,av) ;
ahC7D:=2;windowclose; end
end;
procedure domenu2;
begin
mak(av);
end;
procedure domenu3(var ah:hh);
var d:stringC8l;
c.integer;
currentchoice :byte;
begin
if chr(choiceroenuCstatusmenu]+48) ='1" then
begin windowopen(20,09,62,12);go0toxy (02,1);
write("FIRST STANDARD STEEL LENGTH ’);rer(ahm );
while (ahCIKQ) or (ahll1>99) do
begin str(ahc1l,d);gotoxy (wherex-length(d), wherey)
rer(ahcil);end;windowclose end
else if chr(choicemenuCstatusmenul+48) ='2" then
begin windowopen(20,09,62,12);gotoxy (02,1);
write(’SECOND STANDARD STEEL LENGTH *);rer(ahC21);
while (anC2I<0) or (ahT21>99) do
begin str(ahC21,d);gotoxy(wherex-length(d),wherey)
rer(ahT21);end;windowclose end
end;
procedure domenud(var ah:hh);
var currentchoice,xa,ya byte;
d:stringC41;
ch:char:
c,res:integer;
begin
if chr(choicemenulstatusmenul+48) =1 then
begin windowopen(20,09,55,12);gotoxy (02,1);



write(’STOP EVERY STEP OF SOL 0/1/2  ’,ahC31:L:0)
gotoxy(wherex-1,wherey);d:=readkey;
if d="0"then ahf3]:=0 else if d="2’then ahl31:=2
else ahf3l =l;windowclose end

else if chr(choicemenulstatusmenul+48) ='2" then

begin windowopen(20,09,55,12);gotoxy (02,1);
write("GET VALUE OF UPPER REBOUND ') ;xa:=wherex;
ya:=wherey;
write(ahl4l 2:2);ch:=readkey;
if ch<>#13 then
begin gotoxy(xa,ya),write<’ ");

gotoxy(xa,ya);tetl(ahl4l);end;

if (ahC41<0) or (ahl141>0.99) then ah!41:=0;
windowclose end

else if chr(choicemenu[lstatusmenul+48) =3’ then

begin windowopen(20,09,50,12);gotoxy (02,1);
if ahC51=| then d:="Y’ else d:="N’;
write(’SHOW CALCULATION SHEET ’,d);
gotoxy(wherex-1,wherey);d:=readkey;
if (d="Y")or(d="y") then ahC5l:=l else ahC5l:=2;

windowclose end

else if chr(choicemenuLstatusmenul+48) =4’ then

begin windowopen(20,09,45,12);gotoxy (02,1);
if ahC6l=I then d:="Y" else d:="N’;
write(’SAIT: VARIABLE ' ,d);
gotoxy(wherex-1,wherey);d:=readkey;windowclose;
if (d="Y")or(d="y’) then begin ahl61:=I;saf(ah)end
else aliCol =2;end

end;

procedure domenu(var ah:hh);
begin
case statusmenu of



1 domenul(ah);
2 domenuz;
3 domenu3(ah);
4 domenud(ah);
end;
end;
procedure processfunction (num byte);
var ch:char:
begin

setwinattr(reverselow);
setboxattr(reverselow);
etcharattr (reverselow);
sethoxstyle(single);
windowopen (25,12,55,14);
gotoxy (08,2);
write (’process function ’,num);
ch :=readkey;
windowclose;windowclose;
end;
procedure dofl;
var ch:char;
begin
setwinattr(reverselow);
setboxattr(reverselow);
setcharattr(reverselow);
sethoxstyle(mixl);
setwinheader(’press any key to exit’);
windowopen (5,4,72,19);writeln;
writeln(”  This program is designed for everyone who would
like to use.”);
writeln(’It is easy to run and use. Almost function can watch
as you run.’);
writeIn("If you do not to use it, please watch the manul.
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It has any ’);
writeIn(’function dose not to show in the face of program
these are:’);
writeln(’ FUNCTION FOR DATA FILE™);
writeln(’ F5 DELETE BLOCK’);
writeln(’ F 6 COPY BLOCK');
writeln(’ F 7 BLOCK BEGIN’);
writeln(’ F 8 BLOCK END’);writeln;
writeln(’ If you have other question plase contact
writeln(’ Mr. Yotin Treratanapan’);
ch:=readkey;setcharattr(lowdisplay);setwinheader(” );
sethoxattr(lowdisplay);setwinattr(lowdisplay);windowclose;
end;
procedure dof2(var fi,b fi:fiv);
var aa,ca:stringfl2i;
ch:char;
begin
windowopen(20,09,54,13);gotoxy (02,1);
write(’ENTER OLD FILE NAVE ’);readin(aa) ;
write NEW FILE NAVE  *);readIn(ca);
if aa=" then begin write('df’);aa:="aa’;end;
assign(fi,aa);
if made(fi) then
begin assign(bfi,ca);rename(fi,ca);end
else begin clrscr;writeIn(’FILE NOT  FOUND':26);
writeln("press any key’:24);ch:=readkey;end;
windowclose;
end;

procedure dof3(var fi:fiv);
var a:stringll21;

ch:char;

begin



windowopen(20,09,60,13);gotoxy (02,1);
write(ENTER FILE NAVE TO ERASE  ');readlin(a);
if a=" then a:="aa’;
assign(fi,a) ;
if made(fi) then erase(fi)
else begin clrscr;writeln(’FILE  NOT-  FOUND' 29);
writeIn('press any key’ 27);ch:=readkey;end
windowclose;
end;
procedure quit;
begin
setattr (highdisplay);
windowclose;
cursoron;
clrscr;
finish =true;
end;
procedure testkey <key:char;var ah:hh;var fi,afi:fiv;
var funckey boolean);
begin
if funckey then
(key) of
homelkey  movetofirstmenu(ah);
endlkey movetofirstmenu(ah);

up'key moveup;

|t lkey movehack(ah);
rtlkey moveforward(ah) ;
(inlkey movedown;

PgUplkey ~ movetofirstchoice;
pgdnlkey ~ movetolastchoice;
finkey dof1;

f23key dof2(fi,bfi);
f31key dof3(fi);
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fioikey quit;
end { of case }
else
if key = return3key then domenu(ah);
end;
begin

clrscr;ref(ah);
directvideo =true;
checksnow  :=true;
displayfunckey;
displaymainmenu(ah);
menuactive(l,ah);
cursoroff;i:=0;
repeat
readfunckey (key,funckey);
testkey (key,ah, fi,bfi,funckey);
until finish:
end.



unit val;
interface
uses crt;
type add = arrayC0O..60 of real;
aff = arrayCo0.53 of real;
aft = arrayCO..T' of integer;
hh - arrayCl.. 63 of real;
var a,c.add;
af:aff;
fa:aft;
ah:hh:
ha, lib: real;
key  char;

funckey boolean;
implementation

begin
end.

114



115

unit vav:

interface

type abb = arrayfl..51,1..203 of real,
var ab:abb;

implementation

begin
end.



unit tev:
Interface

uses crt7turbod,dos,screen,win,ter,valvkeyboard;
procedure makCvar av:nm),
implementation

procedure mak(var av:nm);
type fiv=text;
cw=stringC12D;
var fi:fiv;
aw:cw;
key:char;
st,sh:string;
X,y,Xxa,ya:byte;
I,c7pta,pth,ptriinteger,
quit,fun:boolean;
function made(var fi = fiv)  boolean;
begin
{$1-} reset(fi); {814}
made:=10result = 0;
end;
procedure pttr(var sh:string;ptr:integer;var key:char);
var priinteger;
begin
pr:=ptr mod 6;
case pr of
1 if length(sh)<6 then sh:=concat(sh,key);
2 if (length(sh)<6) and(key>#47) and(key<#58) then
sh:=concat(sh,key);
3. if (length(sh)<6) and(key>#47) and(key<#58) then



sh:=concat(sh,key);
4 if (length(sb)<5) and(key>#47) and(key<#58) then
sh:=concat(sh,key);
5 if (length(sbx3) and(key>#47) and(key<#58) then
sh:=concat(sh,key);
0 if length(sh)<5 then sh:=concat(sh,key);
end;
if (key=#8 ) and (length(sh)>0) then
begin delete(sh,length(sb),1);
gotoxy(wherex-1,wherey);write(’ ’);
end;
end;
procedure readfunc(var key:char;var sb:string);
begin
key:=readkey;
if key= #0 then
begin
fun :=true;
key =readkey;
end
else
begin
fun := false;
pttr(sh,ptr.key);write(key);
end;
end;
procedure mapkey(var key char);
begin
if fun then
case key of
fllkey  key := ~p;
f21key key ="
homelkey  key := "a;



endlkey  key = -
PgUplkey  key = -n.
pgdnlkey  key .= -,
It]key key = - .
rtikey key = -a
dullkey key ="t;
uplkey key = .q.
folkey — key = "g;
f63key key = b
fTHkey key = -
f81key key ="g;
f9lkey key .= "f
else
key = #00;
end;
end;
procedure sei(var pta,ptb,ptr:integer;var av:nm;var sb:string
var xa,ya:byte);
var ef:stringl71];
begin
if sb<>"' then
begin
ef:=’ delete(ef,5-length(sh), length(sh));
if ptr mod 6 =1 then sh:=concat(sb,ef)
else sb:=concat(ef,sh);
delete(avftrunc( (ptr-1) /6)+1 ,7*
<ptr-6*trunc((ptr-1)/6)-1)+1,5);
insert(sb,avttrunc((ptr-1)/6)+1],7*
(ptr-6>trunc((ptr-1)/6)-1) +1) ;
sb: =" ;
end;
window (3,3,59,23);gotoxy(xa-5,ya);

if (trunc((ptr+5)/6)>trunc((pta-1)/6))and



(trunc( (ptr+5)/6Xtrunc( (pthflD/6)) then
begin
setattr(reverselow);
write(copy(avitrunc((ptr-1)/6)+in,7*
(ptr-6*trunc((ptr-1) 16)-1) +1,5) );
setattr(lowdisplay) ;
end
else begin gotoxy(wherex,ya);
write<copy(avCtrunc((ptr-1)/6)+13,
T*(ptr-6*trunc((ptr-1)/6)-1) +1,5));
end;
end;
procedure sej(var pta,pth,ptr,izinteger;var av:nm;
var xa,ya:byte);
begin
if (trunc((ptr+5)/6)>trunc((pta-1)/6))and
(trunc((ptr+5)/6)<trunc((ptb+11)/6)) then
write(copy(avitrunc((ptr-1)/6)+1
T*(ptr-6*trunc((ptr-1)/6)-1)+1,5))
else begin
setattr(reverselow);
write(copy(avCtrunc((ptr-1)/6
T*(ptr-6*trunc((ptr-1)/
setattr(lowdisplay);
end;
xa =wherex;ya =wherey;
window(1,1,80,25);gotoxy(1,1);clreol;
{write(pr’,ptr,’y",ya,’x",xa,’i",1)>
end;
procedure leftarrow(var sh:string;var ptr,i:integer
var av:nm;var xa,.ya:byte);

i,

)
6)-1)+1,5));

var j,k:integer;
begin



if (ptr>1) and ((ya*xa)>6) then
begin
if ptr mod 6=1 then
begin
sei(pta,ptb,ptr,av,sb,xa,ya);ptr =ptr-1;
gotoxy(wherex+30,wherey-1);sej(pta,pth,ptr,i,av,xa,ya);
end
else
begin
sei(pta,pth,ptr,av,sh,xa,ya);ptr:=ptr-I;
gotoxy(wherex-12,wherey);sej(pta,pth,ptr,i,av,xa,ya) ;
end;

end

else begin
If ptr+119>1 then begin J:=i-ptr;k:=trunc(j/6)+1;end
else if <120 then begin j:=i-I;k:=trunc(i/6)end
else begin j:=119;k:=20;end;
window(3,3,59,23);
gotoxyd, 1) ;writeln(avitrunc( (ptr+5)/6)3) ;ptr:=ptr+j;
gotoxy(36,k);sej(pta,pth,ptr,i,av,xa,ya);

end;

end;
procedure rightarrow(var sh,st:string;var avinm;
var i,ptriinteger;var xa,ya:byte);
var k:integer;
begin
if (ptr<i) and(ya<21) and(6*ya-frac(ptr/6)<120) then
begin
if ptr mod 6=0 then
begin
sei(pta,pth,ptr,av,sh,xa,ya);ptr =ptr+1;
gotoxy(l,wherey+l);sej(pta,ptb,ptr,i,av,xa,ya);
end

120
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else
begin
sei(pta,pth,ptr,av,sh,xa,ya);ptr:=ptr+1;
gotoxy(wherex+2 , wherey);
sej(pta,ptb,ptr,i,av,xa,ya);
end;
end
else begin
sei(pta,pth,ptr,av,sh,xa,ya);
if ya<20 then ptr:=ptr-6*ya+|
else if <120 then ptr:=1 else ptr:=ptr-119;
gotoxy(1,1);sej(pta,pth,ptr,i,av,xa,ya)
end;
end;
procedure down(var sb:string;var av:nm;var pta,ptb,ptr,i;integer;
var xa,ya:byte);
var yb:byte;
sc,sd:stringibi;
begin
if (ptr+6<=i) and (ya<20) then
begin
sei(pta,ptb,ptr,av,sh,xa,ya);ptr =ptr+6;
gotoxy(wherex-5,wherey+l);sej(pta,pth,ptr,i,av,xa,ya);
end
else
begin
if ptr+6>i then i:=i+6;
window(3,3,59,23);str(trunc((ptr+5)/6)+1,sc);sd:=" 000’;
delete(sd,5-length(sc), length(sc));sd:=concat(sd,sc);
avitrunc((ptr+5)/6)+13 =avCtrunc((ptr-1)/6)+1L;
delete(avltrunc((ptr+5)/6)+11,8,5);
insert(sd, av[trunc((ptr+5)/6)+ID,8);
if ya=20 then yb:=21 else yb:=ya+l;



gotoxy(l,yb);
if (trunc((ptr+5)/6+1)>trunc((pta-1)/6))and
(trunc((ptr+5)/6+1)<trunc((pth+11)/6)) then
begin setattr(reverselow);write(avftrunc((ptr+5)/6)+1 );
setattr(lowdisplay);writeln; end
else writeln(avftrunc((ptr+5)/6)+1 );
if ya=20 then begin yb:=yb-l;ya:=ya-l end;
sei(pta,pth,ptr,av,sh,xa,ya);ptr =ptr+6;
gotoxy(wherex-5,yh);sej(pta,pth,ptr,i,av,xa,ya);
end;
end;
procedure up(var sh:string;var av:nm; var i,pta,pth,ptr:integer
var xa,ya:byte);
var k,j integer;
xh:byte;
begin
if ptr-6>0 then
begin
sei(pta,pth,ptr,av,sh xa,ya);ptr =ptr-6;
if wherey=| then
begin
k:=trunc(i/6)-trunc((ptr+5)/6)+l;xh:=wherex;
if k>19 then k:=20
else k:=trunc(i/6)-trunc((ptr-1)/6);
for j:=I to k do
begin
gotoxy(1,wherey);
if (trunc((ptr-1)/6+])>trunc((pta-1)/6))and
(trunc((ptr-1)/6+j)<trunc((pth+11)/6)) then
begin setattr(reverselow);
writeln(avftrunc((ptr-1)/ )+ji);
setattr(lowdisplay);end
else writeln(av[;trunG( (ptr-1)/6)+jH) ;
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end;
gotoxy(xh-5,1);sej(pta,pth,ptr,i,av,xa,ya)
end
else
begin gotoxy(wherex-5,wherey-1);
sej(pta,pth,ptr,i,av,xa,ya) end
end;
end;
procedure pgup(var avinm;var pta,pth,ptriinteger;var xa,ya:byte);
var j:integer;
begin
if ptr-120-6*ya>0 then
begin
window(3,3,59,23 );ptr:=ptr-114-6*ya;gotoxy(L1,wherex-ya);
for j:=1 to 20 do
if (trunc((ptr-1)/6+j)>trunc((pta-1)/6))and
(trunc((ptr-1)/6+j)<trunc((pth+I11)/6)) then
begin setattr(reverselow);writeln(avCtrunc((ptr-1)/6)+j]);
setattr(lowdisplay);end
else writeln(avftrunc( (ptr-1)/6)+jll) ;
gotoxy(wherex-5wherey-1);window(1,1,80,25);gotoxy(1,1);
ptr =ptr+6*ya-6;
end;
end;
procedure pgdn(var av:nm;var pta,pth,ptr,izinteger;
var xa,ya:byte);
var j,k:integer;
begin
if ptr+240-6*ya<i then
begin
window(3,3,59,23);ptr:=ptr+120-6*ya;gotoxy(L,wherex-ya);
for j:=1 to 20 do
if (trunc((ptr-1)/6+j)>trunc((pta-1)/6))and
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(trunc((ptr-1)/6+j)<trime((pth+11)/6)) then
begin setattr(reverselow);
writeln(avCtrunc((ptr-1)/6)+jD);
setattr(lowdisplay);end
else writeln(avCtrunc((ptr-1)/6)+jD);
gotoxy(wherex-5 wherey-1);window(1,1,80,25);gotoxy (1,1);
ptr=ptr+6*ya-6;
end;
end;
procedure ctt(var pta,pth,ptr,i;integer;var av:nm;var ya:byte);
{f8>
var ¢,k:integer;
begin
window(3,3,59,23);
if ptr+6*(20-ya) <i then k:=20
else k:=trunc((i-ptrt6*ya-1)/6);
gotoxy(1,1);
for ¢:= 1to k do
if (ptr-6*ya+6*c>=pta) and(ptr+6*(c-ya)<=pth) then
begin
setattr(reverselow) ;writeln(avCtrunc( (ptr-6*ya+5)/6)+cl) ;
setattr(lowdisplay);
end
else
writeln(avCtrunc((ptr-6*ya+5)/6)+cD);
gotoxy(xa,ya);
windowd, 1,80,25) ;
end;
procedure ht.e(var pta,ptb,ptriinteger;var av:nm;var xa,ya:byte); {f5>>
var ¢ k:integer;
begin
window(3,3,59,23);
if ptr+6*(20-ya) <i then k:=20



else k:=trunc((i-ptr+6*ya-1)/ );
gotoxy(L,1);
for ¢:= 1to k do
writeIn(avlltrunc( (ptr-6*ya+5)/6)+cl) ;
gotoxy(xa,ya);pta:=pth+6;
window(1,1,80,25);
end;
procedure ettCvar pta,ptb,ptr,izinteger;var av:nm;var xa,ya:byte)
{f6>
var xb,yb:byte;
c,),k,m:integer;
sh,ef stringC51;
begin
xb:=wherex;yh:=wherey;window(3,3,59,23);
jo=trunc((ptb-1)/6)-trunc((pta-1)/6)+I;
for ¢:= trune((pta-1)/6)+l to trunc(i/6) do
begin
str(c,sh);
ef:=" 000" ;delete(ef,5-length(sh),length(sh));
sh:=concat(ef,sh) ;delete(avlic+jD,8,5);
insert(sb,avfc+jl,8);avfcl =avfc+jl;

end;
for e:= trunc(i/6)-j+1 to trunc(i/6) do
avfcl =" ;m:=1;i:=1-6*;clrscr;

If ptr+6*(20-ya) <i then k:=20
else k:=trunc((i-ptr+6*ya-1)/ ),
gotoxy(1,1);
for ¢:= 1to k do
writeln(avftrunc((ptr-6*ya+5)/6)+cl);
ptr:=ptr-6*ya+6;yb:=ya;ya:=l;pta:=pth+6;
window(1,1,80,25);
end;
procedure ftt(var pta,ptb,ptrizinteger;var av:nm;var xa,ya:byte)
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{f9>
var k,j,c:integer;
sh,ef stringC5D;
sa:string:453;
begin
window(3,3,59,23);
Ji=trunc((ptb-1)/6)-trunc((pta-1)/6)+I;
for k:= trunc(i/6) downto trunc((ptr+5)/6) do
begin
str(k+j,sb);ef:=" 000’;
delete(ef,5-length(sh), length(sb));delete(avfkl,8,5);
insert(concat(ef,sh),avCkl8);avik+jl:=avfkl;
end;
If pta>ptr then c:=j else ¢:=0;
for k:=trunc((ptr+5)/6) to trunc((ptr-1)/6)+) do
begin
str(k,sb);ef = 000 ;inc(c);sa:=avftrunc((pta-1)/6)+c3;
delete(ef,5 -length(sb), length(sb));delete(sa,8,5);
insert(concat(ef,sb),sa,8);avCkH =sa;
end;
=i+ 6*);ptr:=i;clrscr;
If pta>ptr then k:=ptr else k:=pta;
pta:=pth;
for k:=trunc((k-1)/6)+I to trunc(i/6) do
writeln (avCkl);ya:=wherey-1;xa:=41;pta:=ptbf6;
windowd, 1,80,25) ;
end;
procedure processfunckey(key:char;var st:string;var av:nm;
var xa,ya:bjrte;
var i,pta,pth,ptr:integer;
var quitrboolean);
begin
case key of



begin if st= ” then st:=#13; quit:=true; end;
begin st:= #27;quit:=true; end;

leftarrow (sb,ptr,i,av,xa,ya);

~d rightarrow(sb,st,av,i,ptr,xa,ya);

~t down(sb,av,pta,ptb,ptr,i,xa,ya);

~q up(sb,av,i,pta,ptb,ptr,xa,ya);

~h pgnp(av,pta,ptb,ptr,xa,ya);

~i pgdn(av,pta,ptb,ptr,i,xa,ya);

c begin pta:=ptr;ctt(pta,ptb,ptr,i,av,ya);end;

~e begin ptb:=ptr;ctt(pta,ptb,ptr,i,av,ya);end; {f8Kk>

~b ett(pta,ptb,ptr,i,av,xa,ya); {feKy>

"f ftt(pta,ptb,ptr,i,av,xa,ya); {fOKc>

~g hte(pta,ptb,ptr,av,xa,ya); {f5Kh>
end

end;
procedure te(var i:integer;var av:nm;var fi:fiv;var aw:.cw);
var c:integer;
begin
write(CENTER FILE"S NAVE *);readln(aw);c:=0;aw:=aw+’ .txt’;
clrscr;
assign(fi,aw);
if made(fi) then
begin
reset(fi);
while not eof(fi) and (c<t0) do
begin
c:=c+l;

readIn(fi,avlic]) ;

avfc] =concat(copy(avllc3,1,5),’ ’,copy(avfc3,7,5),’
copy(avlcD, 20,5),’ ’,copy(avion,26,5),’ ",
copy (avlcll, 33,2),’ ’',copy(avCci, 37,4)," ’);

writeln(avCcD);
end;
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close(fi);
end
else
begin avdD:="BI 001 8000 1 6 RB24’;
c.=Lwriteln(avCll);end;
| = *6;g0toxy(wherex,wherey-1);
end;
procedure tc(var i:integer;var av:nm:var fi:fiv;var awrcw);
var c:integer;
begin
{ windowopenC12,4,60,15) ;
for ¢:=l to 4 do
writeln(avfcl);}
¢:=0;1:=trunc(i/6);
assign(fi,aw);rewrite(fi);
while c<i do
begin
inc(c);
delete(avCcl,6,1); insert(”  *,avCcl,13);
delete(avLcl,31,3);delete(avtcl,35,1);
writeln(fi,avCcl);
end;
{for ¢:=I to 4 do
writeln(avfcl);
writeln(’1234567890123456789012345678901234567890° ) ;readIn;}
close(fi);
end;
begin
setwinheader(’ENETR To Exit’);
windowopen(2,2,60,24);sh:="";clrscr;
te(i,av,fiaw);quit:=false;
st:=key;ptr:=i-5;pta:=0;pth:=0;
xa:=wherex;ya:=wherey;
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while (not(quit)) and (ptr<3300) do
begin
readfune(key,sh);
raapkey(key);
processfunckey(key,st,av,xa,ya,i,pta,ptb,ptr,quit);
end;
gotoxy(L,1);clreol;setattr(reverselow);write(’CALCULATION');
gotoxy(19,1);write('FILES’);
gotoxy(39,1);write(’STEEL LENGTH');
gotoxy(59,1);write(’VARIBLE");setattr(lowdisplay);
windowclose;
windowopen(20,11,45,13);write(” SAVE THIS FILE YN ),
key =readkey;windowclose;
if (key="y") or (key="Y") then tc(i,av fi,aw);
end;
begin
end.



unit ouu:
interface

uses crt,turbo3,dos,screen,keyboard,vav,val;
type agd = arrayC0..8501 of real;
vax ad:agd;
procedure Dim;
procedure swac(var rb,rc:integer;var ab:abb;var c:add);
procedure nrp(var i,rm:integer;var ab:abb;var c:add);
procedure comb(var fa:aft;var aa:att;var rd,rb,rm:integer;
ha,hb:real;var ab:abb;
var a,c.add;var af:aff);

implementation

Procedure Dim;
var  Path string;

DirInfo  SearchRec;
procedure Dir(Mask  tring);
begin

FindFirst(Mask,AnyFile,Dirlnfo);
While DosError = 0 do begin
FindNext (DirlInfo);
if (DosError =0) then Writeln(DirInfo.Name);
end;
end;
begin
Path = "*.txt’;
Dir(Path);
end;

procedure swac(var rb,rc:integer;var ab:abb;var c:add);
var mk:real;
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1, k:integer;
begin
for i:= 1to rb do
for j:= i to rb do
if cfil>cCj] then
begin
mk:=cCjH;cCj]:=cCi];cfiD:=mk;
for k= 1 to rc do
begin
ink =abcj,kl;abcj kl:=abci,kl;abci,k]:=mk;
end;
end;
end;
procedure nrp(var i,rm:integer;var ab:abb;var c:add);
var f,1j,k:integer;
begin
k:=0;
for 1:= 1to i-1 do
if (abs(cCl]-cCii)<0.02) and(kOrm) then
begin
for j:=1 to rmdo
if abs(abfl,jl-abci,jDX0.01 then
k:=k+l:
If k=rm then i:=i-I
else k:=0;
end;
end;

procedure comb(var fa:aft;var aa:att;var rd,rb,rm:integer;
ha,hb:real;var ab:abb;var a,c:add;var af:aff);
var he,hfe.f,h,ij kI ffi,;n0,p,q,r,s,t,u,y,v,w x:integer;
hc,hd,ht,ct,mk:real;
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procedure htt(h:integer;var ct,ht:real;var af:aff);
var i:integer;
begin

for i:=0 to h do

if ct>afci3 then

ht:=afcCi+13;

end;
procedure hta(h:integer;var et,ht:real;var af:aff;var frinteger)
var z,j:integer;
begin

j:=0;

for z:=f to h do

if (ct<=aflz+13)and (j=0) then

begin
f=z+l;j:=l{write(’h*,h "z z2,’af’ ,afcf3:2:2,'f f);>
ht:=aflf3;
end,
end;
begin
he:=af 1 :hd:=afc2D;he:=faL13;hf:=faf23;
for 1:=1 to 2 do

afCi+23:=afCi3;
afl13:=ha;afC23:=hb;
h:=0;afC03 =0;{give value of steel)
for i:= 1to 4do
for j:= 1 to 4 do
if afli3>afLj3 then
begin
rk:=af1j3 ;af1j3 =afCi3;afCi3 =mk;
end;
for i:= 1to 4do
if afci3=0 then inc(h);



for i:= 1to 4 do
afCi3:=afCi+hl;
for i:= 1to 4 do
writed 2,” af ",afCi3:2:2; ");
write(’h ’,h,” ha ",ha:2:2);readln;}
h:=3-h:
1:=0:
for j:=1to rmdo
for 0:= 0 to aaljl do
begin {rm=l}
if (nn=I) and (0*aCjll<=ha) then
begin
ct:=o+aljl;f:=0;
if i>35 then htt(h,ctht,af);
if (ct>=0)and(0o>0)then
if <36 then
while (f<rd+l) and(ct<afCh+13) do
begin
hta(h,ct,ht,af,f);
=i+l
abcl, =0;abCik] 7>
Clin =ht-ct;
if =35 then
swac(i,rm,ab,c);
end
else if (i>35) and (cL35I>(ht-ct) ) then
begin
abli, jl:=0;abi;ik]:=p;
clil:=ht-ct;
swac(rb,rm,ab,c);
end;
end;
for k:= j+1 to m do
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for p:= 0 to aaCk] do
begin
if (rm=2) and ((o*a[j]+p*atkn)<=ha) then
begin
ct:=o*aLj]+p*aCkJ;f:=0;
if i>35 then htt(h,ct,ht,af);
if (ct>=0)and(0>0)and(p>0)then
if <36 then
while (f<rd+l) and(ct<afch+Il) do
begin
hta(h,ct,htaf,f);
=i+l
abci, ji:=o0;abdikll:=p;
cCill =ht-ct;
if =35 then
swac(i,rm,ab,c);
end
else if (i>35) and (0 35 >(ht-ct)) then
begin
abcijH:=0;abLik:i:=p;
cCi]:=ht-ct;
swac(rb, rm,ab,c);
end;
end;
for 1:= k+l to mm do
for q:= 0 to aalD do
begin
if (rm=3) and( (o*aCji+p*ai:kl+q*aCl])<=ha) then
begin
ct =o*alj L+p*alkll+g*alD ;f:=0;
if i>35 then htt(h,ct,ht,af);
if (ct>=0)and(o+p>0)and(o+g>0)and(q+p>0)then
if i<36 then
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while (f<rd+l) and(ct<afCh+13) do

begin
hta(h,ct,ht,af,f);
=i+l
abci, jl:i=0;abCikl:=p;abfi, 1l =g;
ceil:=ht-ct;
If =35 then
swac(i,rm,ab,c) ;
end
else if (i>35) and (cC351>(ht-ct)) then
begin
abfi,jl:=0;abCikl:=p;abLill:=q;
ceil =ht-ct;
swac(rb,rm,ab,c);
end;
end;
If m>3 then

for ra= 141 to rm do
for r:= 0 to aafml do
Begin
if (o*afjl+p*alkl+g*ai:ll+r*aCml)<=ha then
begin
ct:=o*aEj]+p*aCkl+q*a[:ll+r*ai:m3 ;f =0;
if 1>35 then htt(h,ct,ht,af),
if (ct>0)and(o+tptg>0)and(r+o+q>0)and(r+o+p>0)and(
r+q+p>0)then
If i<36 then
begin
while (f<rd+l) and(ct<afch+Il) do
begin
hta(h,ct,ht,af f);
=i+l
for t: =l to m do
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abcit]:=0;
abci,jD:=0;abCi k3:=p;abi:i, m:=q;abCi,mD =r;
ceil:=ht-ct:
nrp(i,rm,ab,c);
If =35 then
swac(i,rm,ab,c) ;
end;
end
else if (i>35) and (cC35i>(ht-ct)) then
begin
for t:=1 to m do
abnijtl =0;
abci, jl:=o;abllikl:=p;abCi, 1 :=q;abLi,m] :=r;
cfil:=ht-ct:
nrp(i,rm,ab,c);
swac(i,rm,ab, c) ;
1:=35;
end;
end;
End;end;End:end,;
rb:=i;afCl]:=hc;afC2]:=hd;faCl]:=he;faC2]:=hf;
afC3]:=0;afC4]:=0;
end;
begin
end.
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unit ter;

interface
uses dos,crt,screen,win,tet keyboard,printer, ouu,vav,val;

type nm = array fl..9001 of stringC441;
var z,pp,kt integer;
av:nm;
procedure rei(var ia:integer);
procedure rercvar ca:real);
procedure oud(var avinm;var da:agt;var ad:agd;var z,pp,kt:integer;
var ha,hb:real;var ah:hh;var af.aff;var fa:aft);
procedure data(var ah:hh;var av.nm);

implementation

procedure rer(var ca:real);
var c:integer;
b:real;
xa,ya:byte;
begin
b:=ca;xa:=wherex;ya:=wherey;
repeat
readrealnum(ca,c);
if ¢=255 then begin gotoxy(xa,ya);clreol;end
else if C=1 then ca:=bh;
until (c=0) or(c=1);
end;
procedure rei(var ia:integer);
var ¢,b:integer;
xa,ya:byte;
begin



=ia;ia:=1;xa:swherex;ya:=wherey;
repeat
readintnum(ia,c);
if ¢=255 then begin gotoxy(xa,ya);clreol;end
else if C=1 then ia:=;
until c=0;
end;

procedure oud(var av:nm;var da:agt;var ad:agd;var z,pp,kt:integer
var ha,hb:real;var ah:hh;var af:aff;var fa:aft);
var i,j,k,L,m,t, vV, x,y,ra,rb,rd,rm rn:integer;
q,ac,bt,ck,et,ht,mkwv.real;
p:stringC7i;
ch,chi:char;

function rnd(ip:real;var ah:hh):integer;
var ptireal;
begin
if ahC41=0 then pt:=ahL8i
else pt:=ahC4i;
if frac(ip)>pt+0.002 then rnd:=trunc(ip)+I
else md:=trunc(ip)
end;
procedure rea(var ac:real);
var x,y:byte;
begin
tetl(ac);
if (ac<0) or (ac>12) then
begin
X:=wherex+7;y :=wherey-1,
gotoxy(x,y);write(” ");
X:=wherex-2;y:= herey;
gotoxy(X.y);
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tetl(ac);
end;
X =wherex+12;y:swherey-1;
gotoxy(x.y);
end;
procedure out(rd,rm,rb:integer;var ab:abb;var af:aff);
var i, integer;
begin
write(” No ’);
for i:=1 to m do
write(al1J:3:2," ),
for i:=1 to rd do
write(afLid 3:2," ),
writeln(” Rest’);
for i =1 to rbtrm+1 do
begin
write(i:3,” ),
for j:= 1to rm+rd+l do
write(abci,j]:3:2," ");writeln;
if 1 - 20 then readin:
end;writeln(’ y "y);
end;
procedure swaf(rd:integer;var fa:aft;var af:aff);
var mk:real:
I,j,ml:integer;
begin
for i:= 1to rd do
for j:= 1 to rd do
if afci]>afcj3 then
begin
mk:=afL|D;afCji: =afCii;afCii:=mk;
ml:=faCj];fafj .=fafii;fafi =ml;
end;



end;

procedure sht(var af:aff;var rb,rm rd:integer;var ab:abb);
var i,j:integer;
begin
if rd>0 then
for i:= 1to rb do
for j:= rmtl to rm+rd do
if (abLi,rm+rd+111=0) and(abci,j]=1) then
abci,rm+rd+ll:-abfi,rm+rd+li-12+af Cj3;
end;
procedure csum(var ah:hh);
var j:byte;
begin
for j:=1to 4 do
if ahf8+]*ahcl2+jJ < 0 then
begin
if ahC7D=| then

writeindst, use + 20,ahL8+j]:3:2,- M = ahCl12+}::4:0) ;

writeinCuse ,ahC8+j: :2," M = ', ahC12+ji:4:0);
end;
if anC73=| then begin writeln(1st,” );writeln(lst,” );end;
for j:=8 to 15 do ahcj]:=0;
end;

procedure rdf(var fa:aft;var rb,rd,rm:integer;var ab:ahb;
var af:aff;var a:add);
var i,j,k,Ll:integer;
ink, g :real;
begin
if rd>0 then
begin
ablrb+rm+l rm+rd+ll :=0;
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for 1:= 1to rbtrm do
for j:= mtl to rm+rd do

abfi,jl:=0;
for i:= 110 rb do
begin

mk:=0:

for j:=1 to mi do
mk:=mk+ahci,jD*aC|];
if abri,rm+rd+11>=0 then ¢:=0
else g:=abci,rm+rd+ll;
for ki= 1to rd do
begin
If ((mk+abci, rm+rd+13-g)>afckl-0.001)and
((mk+abci,rm+rd+1l-g)<afckl+0.001) then
ab[i,rm+kl:=1
else abli,rm+kl =0;
end;
end;
for 1 =1 to rb+rm do
for j:=rm+l to rm+rd do
abCrb+rm+1,jl:=abCrb+rm+ljl+abci, jl;
x:=0;
for ki=rm+| to rm+rd do
If abfrm+rb+1kl=0 then

begin
for j:= k to rm+rd-x do
begin
af 1| =af j+11;
faljl:=faij+13;

for 1:=k to rb+rm do
abci,jl:=abci, j+11;
end;
X:=x+l:
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end;
rd:=rd-x:
for 1:=1 to rd do
end;
end;
procedure intg(var ab:abb;var c:add;var aa:att;var ch,chi:char);
var iiinteger;
p,m:stringC10];
begin
ch:="b":cfrm+m :=0;
for i:=1t0 rmdo
begin
str(@abCrb+rm+1il:6 2,p);delete(p,1,length(p)-2);
if p < 00" then
ch:="a";
end;
if ch="h" then
for i:= 1to rm do
begin
aaCi]:=saCli];
cCil:=abCrbfrm+l,il;chi:="b";
if aefsaflil,rm+rd+11>-12 then
cCrro+ll =cirm+lI1+(ahs(aeCsaCiD,rni+rd+[)*abLrb+rm+l,il);
end;
end;

procedure sol(var avinm;var a:add;
ch,chi:char;var z,pp,kt,rb,rm rd:integer;
var b,aa:att;var ab,ae:abb;var ah:hh);
var il,rc:byte;
k.kl,rnc,j,pn:integer;
ch,pa:real;



143

procedure pnnCvar pn:integer);
begin
pn:=where.y+pn;
If pn>25 then
begin gotoxy(16,wherey) vrrite(chr(179))
gotoxy(32,wherey);write(chr(179));
gotoxy(48,wherey);write(chr(179))
(chr(
(

)
)
)

gotoxy(64,wherey);write(chr(179
179)):g0toxy(L,wherey);end;

gotoxy(74,wherey);write (chr
end;
procedure jor(var pn,z,pp,k,L:integer;var pa,ak:real;var av:mn;
var ah:hh);
var i :byte;
res,st,p:integer;
mt real;
dt,et:stringC6i;
begin
k:=0;st:=-1;
repeat
inc(pp);val(copy(av[ppD,20,4),mt,res);mt:=mt/100;
if (mt=ak) and(copy(avlppD,29,2)<>’ 0’) then
begin
val(copy(avHpp],25,6),st,res);
st:=st-trunc(pa);
if st >=0 then
begin
if ahC7H=I then writeln(1st,”” 20,
copy(avfpp],L,4),” ",copy(avHppD,9,3),pa:5:0);
pnn(pn);
gotoxy(wherex+16*1,wherey);
writeln(copy(avEpp],1,4),” ",copy(avlppl,9,3),pa:5:0);
str(st,dt);delete(avCppl,25,6);et:=’ "
delete(et,1,length(dt));



dt =concat(et,dt);insert(dt,avCppZl, 25);
inc(k);
end
else begin
if ahf7i=I then writeln(Lst,” :20,copy(avCppll,1,4),’
copy(avCppH,9,3),pa:5:0);
pnn(pn);
gotoxy(wherex+16*1,wherey);
writeln(copy(avCpp],L,4),” *,copy(avCpp],9,3),
copy(avCppi,25,6) );
dt: =’ 0";delete(avCppH,25,6);insert(dt,avCppH,25);
inc(k);pa:=-st; end;
end;
until  (pp=z-1) or (pp=100) or (st>=0);
end;
procedure tabKvar z,pp,rm,rb,rd:integer;var av:nm;var ab,ae:abh
var sa.att;var a:add;var ah:hh);
var i,k kl,1,j,m tiinteger;

ak,pc:real,
ch:char:
procedure tef(var av nm;pp integer);
const single 21 1
double =2;
mix| =3
rnix2 =4
boxstyle byte = single;

attrofbox:byte = highdisplay;
attrofwindow:byte = highdisplay;
attrofheader:byte = highdisplay;
attrofchar:byte = highdisplay;
headerofwindow : string =" ;

typeofhox array CI..4,1..8] of char =
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SRR
i
SRR

type screenline = array!1..801 of integer;
screenarray= arrayfl..251 of screenline;
screenblock= arrayll..20001 of integer;
windowlink = "windowcontrolblock;
windowcontrolblock = record
XLylx2,y2 integer;

X,y integer;
Id byte;
backlink windowlink;
screenconcents  screenblock;
end:;
var activewindow  windowlink;
screenptr screenarray;

fixedsize integer;
windowcount  byte;
XLylx2,y2,x3,y3.x4,y4 x5x6,x7  hyte;
procedure windowhox(xlyl,x2,y2,x3,x4,x5,x6,x7,y3:byte);
const top =z ledty, (7
right = 3;bottom = 4;
upleft =5;upright = 6;
loleft =T7;loright = 8;
var  x,y hyte;
begin
window (x1,yl,x2,y2);
setattr(attrofwindow);
window)1,1,80,25);
setattr(attrofbox);

gotoxy(xlyl);
write(typeofbox!hoxstyle,upleftl);



for X := xl+1 to X2-1 do
write(typeofboxfboxstyle top]);
write(typeofboxfboxstyle,upright]);

for x = xI+1 to x2-1 do

begin
gotoxy(x,y3);write(typeofhoxfboxstyle,top]);end

for y:= yl+1 to y2-I do begin
gotoxy(xl,y);write(typeofhoxfboxstyle,left]);
gotoxy(x2,y);write(typeofhoxfboxstyle,right]);
gotoxy(x3,y);write(typeofboxfboxstyle,left]);
gotoxy(x4,y);write(typeofboxftboxstyle,right]);
gotoxy(x5,y);write(typeofhoxfhoxstyle, left]);
gotoxy(x6,y);write(typeofboxfboxstyle,right]);
gotoxy(x7,y);write(typeofboxfboxstyle right]);
end;

X
X

gotoxy(X1,y2);

write(typeofboxfhoxstyle loleft]):

for x;= xI+1 to X2-1 do
write(typeofboxfhoxstyle, bottom]);
write(typeofboxfhoxstyle,loright]) ;
setattr(attrofheader);

gotoxy( (xI+x2-length(headerofwindow)) div 2,yl)
write(headerofwindow);
gotoxy(X3,y3);write(#197);
gotoxy(x4,y3);write(#197);
gotoxy(x5,y3);write(#197);
gotoxy(x6,y3);write(#197);
gotoxy(X1,y3);write(#195);
gotoxy(x2,y3);write(#180);
gotoxy(x7,y3);write(#197);

~— — ~— - ~— ~——



gotoxy(x3,yl);write(#194);
gotoxy(x4,yl);write(#194);
gotoxy(x3,y2);write(#193);
gotoxy (X4,.y2) ;write (#193) ;
gotoxy(x5,yl);write(#194)
gotoxy(x6,yl);write(#194);
gotoxy(x5,y2);write(#193);
( (#193)

)

)

)
gotoxy(X6,y2);write(#193);
gotoxy(x7,yl);write(#194);
gotoxy(x7,y2);write(#193
setattr(attrofchar);

end;

begin

clrscrywriteln;

write(" no code length no code length no code length no
code length’);

write(” no.cut st’);

windowhox(1,1,80,23,17,33,49,65,75,3);

{gotoxy(1,1);

write(’012345678901234567890123456789012345678901234567890")

writeln(’12345678901234567890123456789);}

gotoxy(32,1);setattr(reverselow);

write ('DIAMETER ’,copy(avipp+I1,33,9));

setattr(lowdisplay);

gotoxy(38,23);write(” YTP ’);

end;

]

begin {tabu
window(1,1,80,25);
clrscr:k:=0:kl:=0:1:=0;
tef(av,pp);{made table>window(2,4,79,22);m:=pp;
for i:= 1to m do
if md(ablrb+rm+l,in,ah) >0.9 then
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begin
pc.=0;
for j:= 1to rm+rd do
if aeCsaCil,j] <>0 then
begin
if 1=0 then k:=kl
else k:=-1-k;
gotoxy(wherex+16*1,wherey+k):;
if 1=0 then kl:=0;{pnn(pn);>
pc.=pc+(aefsafil, .jl*afjl) ;
if anC71=I then
writeln(1st,’QUANTITY * 20,aefsafil,jl:3:0,
' LENGTH ’ 30,afj]:2:2);
writeln(® ",aefsafil,j 3:0,"*"afj] 2:2);
pa:=rnd(ablro+rm+Lil,ah)*trunc(aefsafil,jl);
ak:=afjl;pp:=m;
jor(pn,z,pp,k,l,pa,ak,av,ah);inc(l);
If kl<k then kl:=k:
end;
if ahC71=] then begin
writeln(Llst,’USE STEEL LENGTH " 20,pc+abs(aefsaCil,
rm+rd+11) 2:1,
"QUANTITY ":30,md(abfrb+rm+l, il ,ah) 7);
writeln(Lst,”’);end;
gotoxy(wherex+66,wherey-k-I);write(rnd(abCrbfrm+1,il,ah) 7);
gotoxy(wherex+1,wherey);
writeln(pc+abs(aefsafil,rm+rd+11) 2:1);
t:=0;
repeat
inc(t),
if ahC8+tl = (pc+abs(aefsafil,rm+rd+11)) then
begin ahC12+tl:=ahC12+tl+rnd(abfrb+rm+l,il,ah);t:=4;end
else if ahC8+tl = 0 then
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begin ahC8+t]:= pc+abs(aeCsaCi],rm+rd+l]);
ahil2+t]:=md(abirb+rm+1l,in,ah);t:=4 end;
until t=4;
if (ahC7]=2) and (ahC3]=2) then eh:=readkey;
k:=0:1:=0;
end;
gotoxy(wherex,wherey+kl+1);
end;
procedure ing(var a:add;z,pp,rm.t,mc:integer;var sa,b:att;
var ab,ae:abb;var cbh,ha,hb:real;var ah:hh);
var 1,j,k,I,p,q, ,rre,rriinteger;
ya,yb:arraycl..100] of integer;
c.ca,hd:real;

procedure inga(var z,pp,t:integer;var av.nm;var ab:abb;var ah:hh);
var i,j, ,Lkl,m,mtb rinteger;
me,alt:real;
ch:char:
begin {ingal
for i:=1 to t do
for j:=1 to 4 do
for :=1to 4do
if abci,2*j]<ablli,2*n] then
begin
me:=abii52*j];abci,2*j :=abci,2*n];abci,2*n]:=mc;

mc:=abci,2*j-1];abfi,2*j-1]:=abfi,2*n-1];abLi,2*n-1]:=mc;

end;
{for ;=1 to t do
for j:=1 to 9 do write(i:2,’ab ",ablli,j]:2:2," *);readln;}
for i:= 1to t do {sum for repettition value of abci,t]}
for j:= i+l to t do
begin

if abci,9]+abllj,9]<>0 then
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for n:= 1to 8 do
if abci, ]=abllj, ] then inc(mt);
if rat=8 then
begin
abci 91 =abli,91+1;abfj91 =0;
end;
mt:=0;
end;
k:=0;kl:=0;1:=0;
m:=pp,
for im=1to t do
if abli,91>=1 then
begin
for j:= 1to 4 do
if abci,2*j-1l <>0 then
begin
if 1=0 then k:=kl
else k:=-1-k;
gotoxy(wherex+16*1,wherey+k);
if 1=0 then kI:=0;{pnn(pn);}
if anC71=l then
writelndst, "QUNTITY *:20,abci,2*-11:2:0,
* LENGTH *:30,abCi,2*]]:4:2);
writeInC™ ",abci,2*j-11:2:0,"*" abci,2*jl:4:2);

pa:=abci,2*j-ll*abci,9l;
ak:=abci,2*j];pp:=m;
jor(pn,z,pp,k,l,pa,ak,av,ah);inc(l);
If kl<k then kl:=k:

end;

if ahC71=I then begin

writelndst,’USE STEEL LENGTH ':20,abci, 101:2:1,

"QUANTITY *:30,abCi,91:7:0);



unit win;

interface
uses crt,screen;

const

procedure
procedure

single =1
double =2,
mix| =3,
mix?2 =4;
boxstyle
attrofhox
attrofwindow
attrofheader
attrofchar
headerof indow
typeofhox

loi

byte = single;

byte = highdisplay;
byte = highdisplay;
byte = highdisplay;
byte = highdisplay;
string -

array Cl..4,1..81 of ch

(4196, #179,#179,#196,#218 #191 #192 #217),

#205,#179 #179,#205#213 #184 #212 #190),

(
(#205,#186,#186,#205 #201 #187 #200,#188),
(
(

#196 #186,#186 #4196 #214 #183 #211,#189));
var errorwindow  byte;

procedure windowclose;

procedure
procedure
procedure
procedure
procedure
procedure

implementation
screenline = arraylll. .801 of integer;

type

windowbox(xl,yl,x2,y2:byte);
windowopen(xl,yl.x2,y2:byte):

sethoxstyle(attrib :byte);
setboxattr(attrib byte);
setwinattr(attrib byte);
setheadattr(attrib :byte);
setcharattr(attrib :byte);
setwinheader(st rstring);



screenarray= arrayfl..251 of screenline;
screenblock= array 1.20001 of integer;
windowlink = "windowcontrolblock;
windowcontrolblock = record

X1Lylx2,y2 integer;

X,y integer;
id byte;
backlink windowlink:
screencontents  screenblock
end;
var activewindow  windowlink;
screenptr 1 'screenarray ;

fixedsize integer,
windoweount  byte;

procedure windowbox(xl,yl,x2,y2:byte);
const top = I;left =
right = 3;bottora = 4;
upleft = 5;upright = 6;
loleft = 7;loright = 8;
var X,y hbyte;
begin
window (x1,yl,x2,y2) ;
setattr(attrofwindow);
clrscr;
window)1,1,80,25);
setattr(attrofbox);
gotoxy(xlyl);
write(typeofboxlboxstyle,upleftl);
for x := xI+1 to x2-I do
write(typeofboxIboxstyle,topl);
write(typeofboxfboxstyle,upright!);
for y:= yl+1 to y2-1 do begin



gotoxy(xly);write(typeofboxChoxstyle,left!);
gotoxy(x2,y) ;write(typeofhoxChoxstyle, right!);
end;
gotoxy(xl,y2);
write(typeofboxlboxstyle, loleft!);
for x:=xI+1 to x2-I do
write(typeofhoxChoxstyle,bottom!):
write(typeofboxIboxstyle,loright!);
setattr(attrofheader);
gotoxy( (xI+x2-length(headerofwindow)) div 2,yl);
writeiheaderofwindow);
window (xI+Lyl+1,x2-1,y2-);
setattr(attrofchar);
end;
procedure windowopen(xl,yl,x2,y2:byte);
var block windowlink:
linelength,windowsize,i integer;
y:hyte;
begin
linelength :=x2-xI+I;
windowsize:=linelength*(y2-yl+1)*2+fixedsize;
If (x2>80) or (y2>25) or (x2-xI<2) or (y2-yl<2) then
errorwindow =l
else
if (abs(memavail) <windowsize) then
errorwindow:=2
else
errorwindow:=0;
if errorwindow =0 then

begin
getmem(block,windowsize);
block".xl = xI;

block".x2 := x2;
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block".yl =yl
block".y2 =y2;
block".X = wherex;

block".y = wherey;
block".backlink =activewindow:

activewindow =hlock:
indowcount = indowcount+1:

block".id = windowcount:

| =1;

for y:=yl to y2 do begin
move (screenptr” Cy,x [1,block™.screencontents:ill, Linelength*2)
I:= i+linelength;
end;
windowbox(xlL,yl,x2,y2) ;
end;
end;

procedure windowclose;
var block windowlink;
linelength,windowsize,i integer;

y byte;
begin
If activewindow<>nil then
begin
block = activewindow:

linelength:= block".x2-block".xI+1;
windowsize =linelength*(block".y2-block".y1+1)*2+fixedsize;
windowcount =windowcount-I;
1=l
for y:= block".yl to block".y2 do begin
move(block".screencontentscil,
screenptr"Cy,block™.xm, linelength*2);
| =i+linelength;
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end;
activewindow = block".backlink;
if activewindow = nil then
window(1,1,80,25)
else
with activewindow" do window (xI+1,yl+1,x2-1,y2-);
gotoxy(block". X block".y);
freemem (block,windowsize);
end;
end;

procedure initwin;

begin
activewindow = nil;
fixedsize = sizeof(windowcontrolblock)-sizeof(screenblock);
screenptr = ptr(videoseq,0);

windowd, 1,80,25) ;

windowcount =0;
end;
procedure setboxstyle(attrib:byte);
begin

boxstyle:=attrib;
end;
procedure setwinheader(st string);
begin

headerofwindow =st;
end;
procedure setwinattr(attrib:byte);
begin

attrofwindow :=attrib;
end;
procedure sethoxattr(attribrbyte);
begin
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attrofbox:=attrib;
end;
procedure setheadattr(attrib:byte);
begin
attrofheader =attrib;
end;
procedure setcharattr(attrib:byte);
begin
attrofchar =attrib;
end;

begin
initwin:
end.
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writeln(lst,””);end;
gotoxy(wherex+66,wherey-k-1);write(abci,9] 7:0);
gotoxy(wherex+l,wherey) ;writeln(abi:i, 10]:2:1) ; b:=0;
repeat
inc();
if ahC8+b] = abci,10] then
begin ahll12+b]:=ahC12+h]+abCi,9];b:=4; end
else if ahC8+b] = 0 then
begin ah!l8+h]:= abci,10];
ahC12+h]:=ahi:i,9];b:=4 end;
until b=4;
if (ah!7]=2) and (ah!3]=2) then ch:=readkey;
k:=0:1:=0:
end;
gotoxy(wherex,wherey+kl+l);
end;
beginiing}

ca:=0;ch:=0;hd:=ha;pp:=mc;

for i:=1to m+8 do

yaCiD =0;

for i:= 1to mdo

for j:= 1to rm do

begin
yaCjl:=yalj]+trunc(aeCsati], j])*rnd(ab[lrbirm+I, i],ah) ;
{if j=1 then

writeln(i:2,°) ",j:2,": "yalj]:2,” tr' trunc(aeflsaCi],j]),
'th *,rb, 'rnd’,md(abCrb+rm+l, i],ah),” ab
ablrb+rm+1,i]:2:2,’h8 ’,ahC8]:2:2);}
end;{readln;>
{for i =Lto mdo
writelmi:2,”y "yali]:2,” b *,bli]:2," a "ali]:2:2,
" ae ',aelsaC2],i]:2:2);}
for i:=1 to rm do



if yaCil<= Li3 then
yaCi]:=bfi]-yaCi3;

for i =1to rm+4 do
ybci]:=yafi];rr:=rm;
repeat

if yafrr]=0 then rri=rr-I;
until yafrrl00;

if rr<5 then
begin
rc.=4;
for 1:= rr+1 to 4 do
yaCiD =0;
end
else
[C:=TIr:
{for i:=1 to rc do
writeln(i:2,’y *,yaCil]:2,” yb *,ybfiD:2,” a *,ali3:2:2,
“rc C,re,rr ),
readin;}
Repeat
for i:=1 to rc do

for p:= 0 to yafiD do
for j:=i+| to rc do
for g:= 0 to yafj] do
for k:=j+l to rc do
for r:= 0 to yalkll do
for l:=k+I to rc do
for s:= 0 to yaCll do
begin
c.=p*afi]+g*alljl+rraCkl+shall ;
if ¢>0 then
if (c>hd-l)and(c<=hd)and(yblliD-p>=0)and(yb[:jl-g>=0)and
(ybCkD-r>=0)and(yb[;ID-s>=0) then



begin
ybcid:=ybcid-p;ybej3:=ybej3-q;ybck3:=ybek3-r;
ybel3 =ybcl3-s;
if c<hb then ca:=hb-c
else ca:=ha-c;
{writeIn(’t *,1," P ",p," ]
’ ,,C',0:2:2)>
ch:=ch+ca;inc(t);
abet, 13:=p;abct,23:=aeid;ahct,33:=q;abct,43:=aCj3;
abet,53 =r;abet,63:=aCk3;abet,73 =s;abet,83 =ael3;
abct,93:=1:abet,103:=ca+c;
end;
end;
hd:=hd-I:
until hd<=0:
inga(z,pp.t,av,ab,ah);
end;
beginesol}
ck:=0;pn:=0;
for i:= 1to m do
ck:=ck+abs(md(abCrb+rm+l, i3,ah)*aeesaCi3,rm+rd+13) ;
if ch="a" then
begin
me.=pp,
tabl(z,pp,m,rb,rd,av,ab,ae,sa,a,ah) ;t:=0;
ing(a,z,pp,rm,t,mc,sa,b,ab,ae,ch,ha,hb,ah);
ck:=ck+abs(ch) ;
if ahe73=I then

1j|’q 11q11 k ’1k1’ r ’1r1’ 1

writelnC1st,’ STEEL DIAMETER ’,copy(avfpp3,33,9),
' REST =" ck:4:2);

writeInC "REST STEEL =",ck:4:2);

csum (ah);

If (ck>cerm+13) and(chi="b’) then



begin
for i =1to m do
safi]:=aaCii;
tabl(Z,PP,rm rb,rd,av,ab,ae,sa,a,ah);
if ahETII=] then
writeInC1st,’ STEEL DIAMETER *,copy(avfppl,33,9),
' REST =*, . 41 4:2);
writeln(’REST STEEL =", . +! :4:2);
csum(ah);
end;
end
else
begin
tabl (Z,PP,rm,rb,rd,av, ab,ae,sa,a,ah);
if anC7J=I then
writeln(1st,’ STEEL DIAMETER *,copy(avfpp3,33,9),
' REST =’ ck:4:2);
writeln(’REST STEEL =", k 4:2);
csum(ah);
end;
end;{sol}

Begin {main oud}
ht:=0;i:=0;}:=0:k:=0;1:=0;t:=0;u:=0;v:=2;
Pac=0rme=0rn=0rme=0rb=0;rd:=0:m =kt;rd:=0;
{for i:=l to rn do writeln(i:2,” ad ",adcil:4:3," da ’,
daCiD);readIn;}
for i:=1 to 2 do
if (af:il*faCil<>0) then

rd:=rd+1;

swaf(rd,fa,af);

Repeat
if ha<hb then

160



begin q:=ha;ha:=hb;hb:=q; end;
aCrn+rd+[D:=1000:
chi:="a’;
if rn-ra>25 then rm:=25
else rm:=m-ra;
for i:=ra+l| to ratrm do
begin
=i-ra;
aOwH =adci i ;bc | =dafir;
if afwD>0 then
aafwl:=trunc(ha/afwl)

else aafwl:=0;
if aafwl>bfwl then
aaCwl:=hCwl:
end;
ra:=ra+rm;w:=0;
for i:=1 to 51 do {set 0 in variable}
begin
cfi]:=1000;
for j:=1 to 50 do
abfi,jn:=0;
end;

comb(fa, aa,rd, rb, rm7ha, hb, ab, a,c,af);
swac(rb, rm,ab,c) ;
if rb> 25 then {bound of comb}
rh:=25;
for i:= 1to m do
if afil>0 then {find max. of repettition value}
begin
if (aCiUu>hb)or((ha-(trunc(halafil)*afil))<=
(hb-(trunc(hb/afil)*afil))) then
ht:=ha
else ht:=hb;

L61



aaCil:=trunc(ht/a[:1]);
if aafil>bJil then
begin
aaci]:=bcill;
if (ha-(aCil*bi:i])X (hb-(aLi]*bfil)) then
ht =ha
else ht:=hb;
end;
abci+rb,rm+rd+1] =(aiil*aafil)-ht;
end;
for i:= 1to rb do
begin
safil =i
abci,m+rd+11 =cfil ;
end; :=1;
for i:= rb+1 to rb+rm do{set 1,0 }
begin
for j:= 1to rm+rd do
if (i =rb+w)and (j = ) then

abci,jl:=aa[ |
else
abci,jl:=0;
=W+

end;

for i:= 1to rbtrm do {set answer}

for j:= 1to rm+rd+l do
aefi,j1 =abci,j 1,

for j =1to m do

abCrb+rm+1,j]:=htjl;

rdf(fa,rb,rd,rm,ab,af,a); {transfer af fa}

sht(af,rb,rm rd,abh); {cone, back ab for af}

if ahC51=I then begin out(rd,rm,rb,ab,af);readln;end
{For check initial value}
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for i:= 1to rb do
for j:= 1to rmado
begin
if abCrb+j,j]<>0 then
abci,j]:=abci,jl/abCrb+j,j];
abfi,rm+rd+li:=abii,rm+rd+1]+abCrb+j,rm+rd+I]*abLi,j];
End;y:=l;
for i:= 1to rb do
for j:= 1to rd do
if (abci,rm+j]<>0) and (rd>0) then
abei,rm+rd+11 =abci, rm+rd+ -7
for i:= 1to rm do
begin
if abCrb+i,in<>0 then
abCrb+rm+1,iD =abCrb+rm+LiH/abCrb+i, i
if aeCrb+i, iu<>0 then
abcrb+rm+1, rm+rd+1: =abCrbtrm+1, rm+rd+1 +(abCrb+rm+1,
li*aeCrb+i,rm+rd+13);
abCrb+i,rm+rd+li:=0;

abCrb+i,i] =1,
saCil =rb+i;
end;

if ahC5]=I then begin out(rd,rm,rb,ab,af);readln;end;
if rb<>0 then
begin if (l-rm/rb>0.75) and (rm/rb<>0) and (rm/rb<>I) then
ahCB8i:=l-rm/rb else ahC8]:=0.75 end
{ begin if rm/rb<0.50 then ahC8]:=l-rm/rb else ahC8Il:=rm/rb end}
else ahC8l1:=0.8;
Repeat
=lct=abClirm+rd+1l;
for i:=1 to rbtrm do
{if abCi,rm+rd+Il=ct then
begin



mk:=0:
for j = 1to rmdo
mk:=mk+abci,| -abc ,ju1;
if mk<O then
begin
ct:=abci,rratrd+l]; =i
end;
end
else }if abci,rm+rd+ll<ct then
begin
ct:=abci,nn+rd+ll; =i
end;
if ¢t<-0.009 then
begin
j:=1:bt:=10000;
for j:= 1to rm do
if abCw,jD>0 then
if (abCrbtrm+1, jl/abCw,juxbt then
begin
bt =abCrb+rm+1,j /abc ,j ;
Vi,
end;
:=abCw,v3 ;t:=0;
for i:=l to rd do {limit not over quantity of rd-steel}
if (wv>0)and(abCw,rm+i]<>0) then
if (abCw,rm+il*( (abCrm+rb+l,rm+D/abCw,rm+il)-
(abCrm+rbf1,vl/wv)))<0 then
begin
t:=1:
abCw rm+rd+11 =0;
end;
if (wv>0)and(t=0) then
Begin
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if bt=10000 then bt:=0;
safvll:=w;
for i:= 1to rm+rb+l do
abci, V]:=abci, Vilwy;
for i:= 1to rm+rb+1 do
for j:= 1to rm+rd+l do
if (abfw,jK >0) and(iOw) and(j<>v)then
begin
abfij]:=abfw jlI*((abci,j]/abfw,jl)-abfi,vl);
if (abci,j]<=0.001) and(abci,jl>=-0.001) then abfi,jl]:=0;
end;
for j:=1 to rm+rd+l do
abfw,j]:=0;
abfw,vl =1;
End;
end;fwriteln(’ SV v et eti2:2) w ot wvi2:2,t )
for i:=1 to m do write(i:2,” *,safii,” ’);}
if (y=2) and(ct=0) then fre-calculation y=I ct=0>
begin
ch:="b’;
for i:= 1to rmdo
begin
str(abfrb+rm+1,ii:6:2,p);delete(p,l,length(p)-2);
if p < 00 then
ch:="a’;
end;
if ch="a’ then
for i:= 1to rb do
abci, rm+rd+m:=abci, rm+rd+11-1
end;inc(y);
lout(rd,rm,rb,ab,af);write(’ w ", " ",v,’ct’ct:2:2);
readln;clrscr;}
Until (ct>=0) or (y=15);
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intg(ab,c,aa, ch,chi);

if ahC53=I then

begin for i:=1to rm do
write(” ’,5aCi3:2);
writeln;out(rd, rm,rb, ab,af);readln;end;
{For check solution}

sol(av,a,ch,chi,z,pp,kt,rb, rmrd,b,aa,ab, ae,ah);

Until ra>=rn:
{for i:= 1to rm do writeln(i:2,” sa ’,salil 2);}
end;

procedure data(var ah:hh;var avinm);
type tmt=stringl11003 ;
ti=arrayC1..1001 of string[123;
td=arraylll.. 1003 of byte;
bbh=stringC203;
var key char:
quit:boolean;
aw :ti;
st:string;
path,et,s:bbb;
dirin:searchrec;
L,ptr:byte;
ac:td;
m k:integer;
procedure dir(mask:bbb;var aw:ti;var i:byte);
var ef,j:stringC23;
begin
sethoxstyle(mix2);
windowopen(3,2,77,24);
findfirst(mask,anyfile,dirin);i:=lef =" 7;
write(ef);setattr(reverselow);

write (1 ? dirin.name);awCi3:=dirin.name;
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setattr(lowdisplay);
et: =’ ".delete(et, 1, length(dirin.nanie)+3) ;
write(et);
while doserror=0 do begin
findnext(dirin);
if (doserror =0) then
begin
inc(i);str(i,j);awfi::=dirin.name;
if length(j)=2 then ef:="
if (i mod 4=1) and (i>9) then write(’ ’);
write(ef,i,” dirin.name);
et:=’
if (i mod 4=0)and(i<>64) then
writeln
else
begin
str(i, );if i= 9 then write(’” *);
delete(et,l,length(concat( ,* ,dirin.name)));write(et);
if i=9 then write(’ ');
end;
awfi =dirin.name;
if i=64 then readln;
end;
end;
enD;
procedure mapkey(var key:char)
begin
if funckey then
case key of
fllkey key:= "p;
f2:key key = "
home:key — key = "a;
end:key  key:= "z



It key key - "

rt key key ="d;
dnDkey key - "t
up]key key = "g
else
key = #00;
end;

end;
procedure sej(var ptr:byte;var ink:integer;var aw:ti;var ac:td)
var len:string;
llinteger;
begin
for i:-1 to mdo
if acfi]=ptr then k. =I;
if k=1 then setattr(reverselow);
write(ptr,” ",awfptri);str(ptr,len) ;
gotoxy (wherex-length(concat(len, * ’,awiptrl)),wherey);
if k=1 then setattr(lowdisplay);k:=|
end;
procedure flkey(var ptr:byte;var m:integer;var ac:td);
var i,j integer;
begin
J*=0;
for 1=l to fido
if acfi]=ptr then
J1=1
if j=0 then
begin
m =m+l;acimD =ptr;
end;
end;
procedure f2key(var ptr:byte;var ra:integer;var ac:td);
var i,j.integer;
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begin
:0;
for i:=1 to mdo
if (aclil=ptr) and(j=0) then :=1
else if j=I then acCi-11:=acdill;
if j=1 then m:=m-[;
end;
procedure leftarrow (var ptr:byte;var km integer;var aw:ti);
begin
if ptr>] then
begin
if (ptr mod 4=1) and (ptr >1) then
begin
sej(ptr,m k,aw,ac);ptr:=ptr-1;
gotoxy(wherex+3*18,wherey-I);sej(ptr,m k,aw,ac);
end
else
begin
sej(ptr,m k,aw,ac);ptr:=ptr-1;
gotoxy(wherex-18,wherey);sej(ptr,m k,aw,ac);
end;
end
else begin
sej(ptr,m k,aw,ac);ptr:=i
gotoxy(18*trunc(4*frac((i+3)/4))+2,I+trunc(i/4-0.01));
{gotoxy (18*trunc(4*frac(i/4)-1)+2, I+tmnc(i/4+0.01));>
sej (ptr,m,k,aw,ac) ;
end;
end;

procedure rightarrow(var st:string; var i,ptr:byte;var k,m:integer;
var aw :ti);
var' len byte;



begin
if ptr<i then
begin
if ptr mod 4=0 then
begin
sej(ptr,m k,aw,ac);ptri=ptr+l;
gotoxy(wherex-3*18,wherey+l);sej(ptr,m k,aw,ac);
end
else
begin
sej(ptr,m k,aw,ac);ptri=ptrl;
gotoxy (wherex-t-18,wherey);sej(ptr,m k,aw,ac);
end;
end
else begin
sej(ptr,m k,aw,ac);ptr:=1;
gotoxy(2,1);sej(ptr,m k,aw,ac);
end;
end;
procedure down(var stistring; var ptr,i:byte;var k,m:integer;
var aw :ti);
begin
if ptr+d<=i then
begin

sej(ptr,m k,aw,ac);ptri=ptr+4;
gotoxy(wherex,wherey+1);sej(ptr,m k,aw,ac);
end;
end;
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procedure up(var st:string; var ptr:byte;var k,m:integer;var aw:ti);

begin
if ptr-4>0 then
begin
sej(ptr,m k,aw,ac);ptr:=ptr-4;
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gotoxy(wherex,wherey-I);sej(ptr,m k,aw,ac);
end;
end;
procedure processfunckey(key:char;var st:string;var i,ptr:byte;
var quit:boolean;
var )integer;var ac:td)
var k:integer;
begin
k:=0:
case key of
"m: begin if st= " then st:=#13; quit:-true; end;
" begin st:= #27;quit:=true; end;
. leftarrow (ptr.k,m,aw);
~0 : rightarrow (st,i,ptr.k,m aw);
~t o down(st,ptr,i,k,m aw);
~0 . oup(st,ptr.k,m,aw);
~p : flkey(ptr,m,ac);
" if m>0 then begin f2key(ptr,m,ac);k:=I end;
end;
end;
procedure ttt(var ha,hb:real;var af.aff;var fa:aft);
var key:char;
quit:boolean;
procedure tt(var ha,hb:real;var af:aff;var fa:aft);
begin
setattr(reverselow);
gotoxy(1,25);write(’F1-1SL.",ha:2:2);
gotoxy(L14,25);write(’F2-2SL.",hb:2:2);
gotoxy(27,25);write(’F3-1RL.’,afC1D:2:2,” Q.*1faCIH);
gotoxy(47,25);Write(Fa-2rL.,af121:2:2 Q.’ faC2D);
gotoxy(68,25);w rite(’ENTER-READY’ );
setattr(lowdisplay);
end;
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begin
tt (ha,hb,af,fa);quit:-false;
while not(quit) do
begin
readfunckey(key, funckey);
case key of
#59  Dbegin windowopen(25,10,55,13);setboxattr(double);
write ("PUT 1st biKKI, LENGTH  ");rer(ha);
windowclose;window(1,1,80,25);tt(ha,hb,af,fa);end;
#60  begin windowopen(25,10,55,13);sethoxattr(double);
write(’PUT 2nd STEEL LENGTH  ");rer(hb);
windowclose;window(1,1,80,25);tt(ha,hb,af,fa);end;
#61  Dbegin windowopen(25,10,62,14);setboxattr(double);
write("PUT 1st REMAIN STEEL LENGTH ’);rer(afCIl);
write(’ QUALITY  ");rei(faC13);
windowclose;window(1,1,80,25);tt (ha,hb,af,fa);end;
#62  begin windowopen(25,10,60,14);sethoxattr(double);
write(’PUT 2nd REMAIN STEEL LENGTH ’);rer(afC21);
write(’ QUALITY ~ ");rei(faC21);
windowclose;window(1,1,80,25);tt (ha,hb,af,fa);end;
#13  quit:=true;
end;
end;
end;
procedure tran(var av:nm;var aw:ti;var ac:td;ha,hb:real;
var m:integer;var ah:hh);
var i,j,k,l,p,t,res,pt,c:integer;
ct real;
fi:text,
ink, am: string!401;
begin
0:=0;
for i:= 1to mdo
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begin
assign(fi,awCaci:il]) ;reset(fi) ;clrscr;
while not eof(fi) and (c<100) do
begin
c:=c+l;
readIn(fi,avion);
end;
close(fi);
end;
if ¢>850 then ¢:=850; {set limited}
for i:= 1to ¢ do {separate type of steel}
for j:= i+l to ¢ do

begin
If copy(avlin,33,9)=copy(avfjn,33,9) then
begin
mk:=avfi+in;avili+l]:=avi;jn;av[j]:=mk;
end;
end;
am:=avlll] ;avic+1l:=""k:=1;

for 1:=2 to ctl do
If copy(am,33,9)0copy(avi:il,33,9) then
begin
for j:=k to i-1 do
for I:=j+1 to i-1 do

begin
val(copy(avij1,20,4),p,res);val(copy(avE11,20,4)t,res);
if p>t then
begin
mk:=avEll:avEll:=avEj];avEjl:=mk;
end;
end;
k:=1:am:=avlil;

end:
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for 1 =1to ¢ do
writeln(i:3,” ’,avCi3);
for i:=1 to ¢ do
daCill =0;
val(copy(avC13,20,4),ct,res);ct:=ct/100;
adll] =ct;kt:=0;
am:=avCl13;avCc+13:=" ;pp:=0;
for i:=1 to ¢+l do
begin
if copy(am,33,9)<>copy(avCi3,33,9) then
begin
z:=i;window(1,1,80,25);
if ahE3]<>0 then ttt(ha,hb,af fa);
gotoxy(34,12);setattr(reverselow);write(’WAIT");
setattr(lowdisplay );
oud(av,da,ad,z,pp,kt,ha,hb,ah,af fa);am:=avCiD;kt:=0;
for t:=1 to 2 do
begin aflt] =0;faCtl =0; end;
if (i=ctl) and (ahi33<>0) then readin;
end;
if (copy(am,20,4K>copy(avCi],20,4)) or (kt=0) then
begin
val(copy(avfi],20,4),ct,res);ct:=ct/100;
inc(kt) ;adckt3 =ct;datkt =0;am:=avCi3;
end;
val(copyCavfil,25, ),pt,res);
dallkt] :=dalkt +pt;
end;
end;

begin
ha:=ahC13;hb:=ahC23;af  =0;faCl :=0;af[23:=0;faC23:=0;
windowopen(1,0,80,25);
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setattr(reverselow);
gotoxyO, 1) :write( "ENTER OR ESC-FINISH’);
gotoxy(26,1):write(’F1-CHOSE FILE’);
gotoxy(44,1);write('F2-REJECT FILE’);
gotoxy(64,1):write(#18,”-MOVE CURSOR');
setattr(lowdisplay);
path:="* txt";m: =0;
dir(path,aw,i);
gotoxy(2,1);quit:=false;
st:=key;ptr:=I;
while not(quit) do
begin
readfunckey(key, funckey);
mapkey (key);
processfunckey(key,st,i,ptr,quit,m,ac);
end;
tran(av,aw,ac,ha,hb,m,ah) ;
windowclose;
end;
begin
end.

{for i =1 to -1 do
for j:=1+1 to m do
If abs(adcil-adcjIX0.01 then
begin
dalil =dalil+daljl;
for k:=j to m-1 do
begin
adckl:=adlk+l:dalkl:=dalk+l;
end;
rm:=rn-l;
end;}



unit screen;
interface
uses crt,dos:

const nodisplay = $00;
lowdisplay = $07;
highdisplay —52
underlinelow = $01;
underlinehigh = $09;
reverselow = $70;
reversehigh = §78;
blinklow =3
blinkhigh = $8F;
unblinklow = $81;
unblinkhigh —5p
revblinklow = $FO;
revblinkhigh = $F8;
colorseg = $B800;
monoseg = $B000;

type agt = arrayfl..850] of integer;
att =arrayUl..60] of integer;

var da:agt;
h9sa,aa.att,
videoseq word:;
critype byte absolute $0040:50049
cursormode . word absolute $0040:$0060;
vport . word absolute $0040:$0063;

procedure setattr(attrib:byte);
procedure setcursor(top,bottom:hyte);
procedure cursoron;

procedure cursoroff;

implementation



var regs registers;
procedure setattr(attrib:byte);
begin
textattr:=attrib;
end;
procedure setcursor(top,bottom:byte);
begin
regs.ah =1,
regs.ch := top;
regs.cl  Dbottom;
intr($10,regs);
end;
procedure cursoron;
begin
portCvportl| - 10;
portCvport+13 := Hi(cursormode) and $DF;
portCvport = 11,
portCvport+l] lo(cursormode)
end;
procedure cursoroff;
begin
portCvportl
portCvport+l
portCvportll
portCvport+l]
end;
procedure identifycrt;
begin
case crttype of
0.3  videoseg = colorseg;
7 videoseg := monoseg;

10;

Hi(cursormode) or $20;
11;

lo (cursormode)

end:
end:

177



178

begin
identifycrt;
end.



unit ke

yboard:

interface

uses cr
var key

t,vav;
char:

funckey:boolean;
ae:abb;
const return3key = #13; esc3key = #27;

shift3tab
alt3g3key
a lt3e3key
alt3t3key
alt3u3key
alt3o3key

a [t3a3key
alt3d3key
a [t3g3key
alt3j3key
alt3l3key
alt3z3key
alt3c3key
alt3h3key
alt3m3key

fl3key
f33key
f53key
f73key
f93key

home3key
pgup3key

- #15;

= #16; alt3w3key = #17
= #18; alt3r3key = #19;
= #20; alt3y3key = #21;
= #22; alt3idkey = #23
= #24; alt3p3key = #25;

= #30; alt3s3key = #31;
= #32; alt3f3key = #33;
#34: alt3hdkey = #35;
= #36; alt3k3key = #37;
= #38;
= #44; alt3x3key = #45;
= #46; alt3v3key = #47,
= #48; alt3n3key = #49;
= #50;

=#59; f23key  =460;
=#61; fA3key =#62,
=#63; fo3key =#64;
=#65; f83key = #66;
=467, flODkey = #68;

= #71; up3key = #72
= #73; It3key = #75;



rtlkey = #77; end]key = #79;
dnllkey = #80; pgdnDkey = #81,
inslkey = #82; deinkey = #83;
shift]fl]key = #84; shift]f2]key = #85;
shift]f3]key = #86; shift]f4]key = #87,
shift]fo]key =#88; shift]fo]key = #89;
shift]f7]key = #90; shift]f8]key = #91,

shift]f9]key = #92:

shift]f 10]key = #93;

ctri]fllkey =#94; ctrl]f2]key = #95;
ctri]f3]key =#96; ctrijfd]key = 497,
ctrl]f5]key =#98; ctrl]f6]key = #99;
ctri]f7]key =#100; ctrl]f8]key = #101;
ctri]f9]key =#102; ctrliflOllkey = #103;
alt]fllkey =#104; alt]f2]key = #105;
alt]f3]key =#106; alt]fd]key = #107,
alt]fb]key =#108; alt}fo]key = #109;
alt]f7]key =#110; alt]f8]key = #111,
alt]f9]key =#112; altnflOUkey = #113;
ctrijprtsc]key =#114; Ctrl]lt key = #115;
ctriDrtlkey =#116; ctrl]end]key — =#117;
ctrDpgdrikey  =#118; CtrlJhome]key = #119;
alt]IDkey =#120; alt]2]key = #1214,
alt]3]key =#122; alt]d]key = #123;
alt]5]key =#124; alt]6]key = #125;
alt]7]key =#126; alt]8]key = #127,
alt]9]key =#128; alt]l0]key = #129;

ctrijpguplkey = #132;



fll]key = #133; f12]key = #134;
shift]flllkey = #135; shift]fl2]key = #136;
ctri]flilkey = #137; ctrl]fl2]key = #138;
alt]fll]key = #139; alt]12]key = #140

procedure readfunckey(var key char;var funckeyiboolean)
procedure readstring(var st:string);

procedure readintnum(var ] code integer);

procedure readrealnum(var num:real;var code:integer);

implementation
pi'ocedure readfunckey(var key:char;var funckey hoolean);
begin
key:=readkey;
if key= #0 then
begin
funckey :=true;
key =readkey;
end
else
begin
funckey = false;
end;
end;
procedure mapkey(var key:char);
begin
if funckey then
case key of
homellkey : key := "a;
endlkey : key := "z
ltlkey —: key := " ;
rtikey : key = ~d;
dellkey : key = "g
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else
key = #00;
end;
end;

procedure backspace(var st:string; var ptr:byte);
var tail:string;
begin
if ptr < 1 then
begin
tail:=copy(st,ptr,length(st)-ptr+l) ;
delete(st,ptr-1,1);
ptri=ptr-I;
write(*h);
clreol:
write(tail);
gotoxy(wherex-length(tail),wherey);
end;
end;
procedure leftarrow (var ptr byte);
begin
If ptr<>1 then
begin
ptro=ptr-I;
write('h);
end;
end;

procedure rightarrow (st:string; var ptr:byte);
var len:byte
begin

len =length(st);

if (ptr<=len) and(len0Q) then



begin
ptri=ptr+l;
gotoxy(wherex+1,wherey);
end;
end;
procedure tohomeCvar ptr:byte);
begin
gotoxy (wherex-ptr+ 1, wherey);
ptr:=1;
end;
procedure toend(st:string; var ptr:byte);
var len:byte;
begin
len:=length(st);
if ptr<=len then
begin
tohorae(ptr) ;
gotoxy(wherex+len, wherey);
ptri=len+l;
end;
end;
procedure truncate(st:string; var ptr:byte)
begin
st:=copy(st,l,ptr-1);
ptr =length(st)+1;
if ptr = 1then st:= " ;
clreol;
end;
procedure del(st:string; var ptr:byte);
var len:byte;
tail:string;
begin
len:=length(st);
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if (ptr<=len) and(len0Q) then

begin
tail:=copy(st,ptr+l,length(st)-ptr);
delete(st,ptr,1);

clreol;
write(tail);
gotoxy(wherex-length(st ), wherey);
end;
end;
procedure deal'(st:string; var ptr:byte);
begin
tohome(ptr);
clreol:
st:="
end;

procedure character(var strstring; ch:char,var ptr:byte);
var px,len:byte;
begin
len =length(st);
if ptr > len then
begin
iIf (wherex<=(lo(windjnax)-lo(windmin) ) )then
begin
st:=st+ch;
ptri=ptr+l;
write(ch);
end;
end
else
if (len< (lo(windmax)-lo(windmin)) ) then
begin
X:=wherex;
pi=ptr;
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insert(ch,st,ptr);
ptri=ptr+l;
tohome(p);
write(st);
gotoxy(x+1,wherey);
end;
end;
procedure processfunckey(key:char;var st:string;var ptrrbyte;
var quit:boolean);
begin
case key of
~m begin if st= " then st:=#13; quit:=true; end
"¢ begin st:= #27;quit =true; end;
~h  backspace(st,ptr);
~g del(st,ptr);
leftarrow (ptr);
"d rightarrow (st,ptr);
~t truncate(st,ptr);
a tohome(ptr);
~2  toend(st,ptr);
~y clear(st,ptr);
else
if key >=#32 then
character(st,key,ptr);
end;
end;
procedure readstring(var st:string);
var ch:char;
X,y,ptrrbyte;
quit:boolean;
begin
quit :=false;
ptr =1,



X = herex;
y  =wherey;
write(st);
gOtOXy(le);
readfunckey(key, funckey);
mapkey(key);
if (key<#32) then
processfunckey(key,st,ptr,quit)
else
begin
st =key;
ptr =2,
clreol:
write(st);
end;
while not(quit) do
begin
readfunckey(key, funckey);
mapkey (key);
processfunckey(key,st,ptr,quit);
end;
end;
procedure readintnum(var num,code integer);
var st:string;
begin
str(num ,st);
readstring(st);
val(st,num ,code);
If codeOO then code:=255;
If (st = #27) or (st =#13) then code:=l;
end;
procedure readrealnum(var num-:real; var code:integer)



var st string;
begin
str(num:1:12,st);
while stclength(stys = *0" do stCOi :=chr(ord(stCOD)-I)
readstring(st);
st ="0"+st;
val(st,num,code);
If codec>0 then code:=255;
if (st=#27) or (st=#13) then code =1,
end;
end.



unit win

interface
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uses crt,screen;

single 1
double 2
mix| = 3
mix2 =4

boxstyle byte = single

attrofbox byte = highdisplay;
attrofwindow byte = highdisplay;
attrofheader byte = highdisplay;

attrofchar byte = highdisplay;

headerofwindow string = o

typeofhox Erra 9 !.76,1..€D ch
' |

|

il
LT B

var errorwindow  byte

procedure
procedure
procedure
procedure
procedure
procedure
procedure
procedure
procedure

windowhox(xl,yl,x2,y2:byte);
windowopen(xl,yl,x2,y2:byte);
windowclose;
sethoxstyle(attrib :hyte);
setboxattr(attrib :byte);
setwinattr(attrib byte),
setheadattr(attrib byte);
setcharattr(attrib  hyte);
setwinheader(st istring);

implementation
type screenline = arrayC1..80D of integer;



screenarray= array Cl..253 of screenline;
screenblock= array 1..20001 of integer;
windowlink = 1 'windowcontrolblock;
windowcontrolblock = record

X1Lyl,x2,y2 integer;
X,y integer;
id byte;
backlink windowlink:
screencontents  screenblock
end;
var activewindow  windowlink:

screenptr "screenarray;

fixedsize integer;

windowcount  byte;

procedure windowbox(xl,yl,x2,y2:byte);

const top = I;left =2
right = 3;bottora = 4;
upleft =5;upright = 6;
loleft =7;loright = 8;

var X,y byte;

begin

window (xI,yl,x2,y2);
setattr(attrofwindow);

clrscr:

window(1,1,80,25);
setattr(attrofbox) ;

gotoxy(xLyl);
write(typeofboxlboxstyle,upleftl);
for X = xI+1 to x2-I do
write(typeofboxIboxstyle topi);
write(typeofboxlboxstyle, upright!);
for y:= yl+1 to y2-1 do begin



gotoxy(xl,y);write(typeofboxLboxstyle,left]);
gotoxy(x2,y) ;write(typeofboxi:boxstyle,right]);
end;
gotoxy(X1y2);
write(typeofboxChoxstyle, loleft]) ;
for x:= xl+1 to x2-I do
write(typeofboxfboxstyle,bottom]);
write(typeofhoxfboxstyle,loright]);
setattr(attrofheader) ;
gotoxy( (xl+x2-length(headerofwindow)) div 2,yl);
write(headerofwindow);
window (xI+Lyl+1,x2-1y2-1);
setattr(attrofchar) ;
end;
procedure windowopen(x1,y1,x2,y2:byte);
var block windowlink:
linelength,windowsize,i integer;
y:byte;
begin
linelength =x2-xI+1;
windowsize =linelength*(y2-yl+1)*2+fixedsize;
if (x2>80) or (y2>25) or (x2-xI<2) or (y2-yl<2) then
errorwindow =l
else
If (abs(memavail) <windowsize) then
errorwindow:=2
else
errorwindow:=0;
if errorwindow =0 then

begin
getmem(block,windowsize);
block".xI = xI;

block".x2 = x2;



block".yl =yl;

block".y2 = y2,

block". X wherex:

block".y = wherey;
block".backlink - activewindow:;

activewindow  := block:
windowcount = windowcount+1;
block", id = windowcount.:

=1

for y:=yl to y2 do hegin
move(screenptr"Cy . xID,block".screencontentsC il,Linelength*2)
i:= itlinelength;

end;

windowbox(xl,yl,x2,y2) ;

end;
end;

procedure windowclose;
var block windowlink;
linelength,windowsize, i integer;

y byte;
begin
If activewindow<>nil then
begin
block = activewindow:

linelength:= block".x2-block".xI+1;
windowsize =linelength*(block".y2-block".y1+1)*2+fixedsize;
windowcount =windowcount-1;
1=l
for y:= block".yl to block".y2 do begin
move(block".screencontentsCil,
screenptr"Cy,block" . xIl linelength*2) ;
| =itlinelength;
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end;
activewindow := block".backlink:
If activewindow = nil then
window(1,1,80,25)
else
with activewindow" do window (xI+1yl+1,x2-1,y2-1);
gotoxy(block".X,block™.y);
freemem (block,windowsize);
end;
end;

procedure initwin;

begin

activewindow = nil;

fixedsize = sizeof(windowcontrolblock)-sizeof(screenblock);
screenptr = ptr(videoseq,0);

window(1,1,80,25);

windowcount =0;
end;
procedure setboxstyle(attrib:byte);
begin

boxstyle:=attrib;
end;
procedure setwinheader(st:string);
begin

headerofwindow =st;
end;
procedure setwinattr(attrib:byte);
begin

attrofwindow :=attrib;
end;
procedure sethoxattr(attrib:byte);
begin
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attrofbox:=attrib;
end;
procedure setheadattr(attrib:byte);
begin
attrofheader:=attrib;
end;
procedure setcharattr(attrib:byte);
begin
attrofchar =attrib;
end;

begin
initwin:
end.
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